



**Proposal  
41968  
CLEARWATER GAS HQ  
for  
CLEARWATER GAS SYSTEMS**



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
1	4	DSX.  BK 9J E9	+Eames Molded Plastic Side Chair, 4-Leg Base  +black +sparrow +standard glide with felt bottom Tag(s): 1ST FLOOR CH.05	219.00	876.00
2	100	LM SG BK BK	+Limerick,Stacking Side Chair  +glide +black +black Tag(s): 1ST FLOOR CH.06	90.80	9,080.00
3	2	LMCT HW	+Cart +2" hard double wheel caster, carpet Tag(s): 1ST FLOOR CH.06	193.40	386.80
4	8	2400 3 MALT 3012302 X9 X9	26x26x20 Exam Stool Select Grade 3 Material Maharam Lariat Black 006 No Selection of Option No Selection of Option Tag(s): 1ST FLOOR CH.12	177.60	1,420.80
5	4	FTS10.3072L S  LBU LBU	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 72W, No Brkts  +medium matte walnut +medium matte walnut Tag(s): 1ST FLOOR D.01	138.37	553.48

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
6	4	FTS10.2448LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 48W, No Brkts  LBU LBU	62.62	250.48
			+medium matte walnut +medium matte walnut Tag(s): 1ST FLOOR D.01		
7	4	FTS10.2472LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 72W, No Brkts  LBU LBU	102.52	410.08
			+medium matte walnut +medium matte walnut Tag(s): 1ST FLOOR D.01		
8	8	FV696.48	+Stiffener, 48W  Tag(s): 1ST FLOOR D.01	18.14	145.12
9	8	FT29B.2	+Surface Ganging Bracket,pair  Tag(s): 1ST FLOOR D.01	10.86	86.88
10	4	Y1113.48NL	+Modesty Panel,w/o added cable trough,Lam Top/TP Edge 48W  LBU LBU	103.36	413.44
			+medium matte walnut +medium matte walnut Tag(s): 1ST FLOOR D.01		
11	2	FV2A2.24FL	+Open Support Leg,Archrl Foot,Fxd Hght,Lft 24D  CN	109.87	219.74
			+metallic champagne Tag(s): 1ST FLOOR D.01		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:				TERMS:	
		CLEARWATER GAS HQ		UPON RECEIPT	
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
12	2	FV2A2.24FR	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 24D +metallic champagne Tag(s): 1ST FLOOR D.01	109.87	219.74
13	2	FV2A2.30FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 30D +metallic champagne Tag(s): 1ST FLOOR D.01	115.42	230.84
14	2	FV2A2.30FR	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 30D +metallic champagne Tag(s): 1ST FLOOR D.01	115.42	230.84
15	4	FV43H.WM157 2LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 72W  KA LBU LBU Tag(s): 1ST FLOOR D.01	491.40	1,965.60
16	4	FV980.WM237 2R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 72W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.01	136.84	547.36
17	2	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  CONTINUED...	36.54	73.08

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Tag(s): 1ST FLOOR D.01		
18	4	G6160.BB	+Twist LED Task Light,Starter unit,Brkt Att	137.03	548.12
			Tag(s): 1ST FLOOR D.01		
19	4	G6160.CB	+Twist LED Task Light,Add-on unit,Brkt Att	98.51	394.04
			Tag(s): 1ST FLOOR D.01		
20	4	LW140.24FF	+Ped W-Pull, Surface Att 24D,F/F  SB SS CN KA 2F NN	127.07	508.28
			+full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none		
			Tag(s): 1ST FLOOR D.01		
21	4	LW140.28BBF	+Ped W-Pull, Surface Att 28D,B/B/F  SB SS CN KA 2F NN	176.33	705.32
			+full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none		
			Tag(s): 1ST FLOOR D.01		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
22	8	Y91171.CM	+Flo Single-Screen Monitor Arm Support,Surf Clamp +silver Tag(s): 1ST FLOOR D.01	146.68	1,173.44
23	4	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 1ST FLOOR D.01	156.56	626.24
24	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series +key number 226 Tag(s): 1ST FLOOR D.01	2.62	7.86
25	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series +key number 227 Tag(s): 1ST FLOOR D.01	2.62	7.86
26	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series +key number 228 Tag(s): 1ST FLOOR D.01	2.62	7.86
27	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series +key number 229 Tag(s): 1ST FLOOR D.01	2.62	7.86
28	3	FTS10.2430L S	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 30W, No Brkts CONTINUED...	42.67	128.01

By engaging in business with Workscapes, you agree to the company terms and conditions.



workscape

501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
[WWW.WORKSCAPES.COM](http://WWW.WORKSCAPES.COM)

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
<b>PROPOSAL DESCRIPTION:</b>			<b>TERMS:</b>		
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
29	3	FTS10.2460LS	91 +white 91 +white Tag(s): 1ST FLOOR D.02  +Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 60W, No Brkts 91 +white 91 +white Tag(s): 1ST FLOOR D.02	83.33	249.99
30	1	FTS21.2436LS	+Concave Corner Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 36W, No Brkts 91 +white 91 +white Tag(s): 1ST FLOOR D.02	79.03	79.03
31	2	FTS21.2436LS	+Concave Corner Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 36W, No Brkts 91 +white 91 +white Tag(s): 1ST FLOOR D.02	79.03	158.06
32	10	FT29B.1	+Surface Ganging Bracket,single  Tag(s): 1ST FLOOR D.02	5.81	58.10

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
33	1	FV2A2.24FL CN	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 24D +metallic champagne Tag(s): 1ST FLOOR D.02	109.87	109.87
34	1	FV2A2.24FR CN	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 24D +metallic champagne Tag(s): 1ST FLOOR D.02	109.87	109.87
35	10	FV2A2.2AFS CN	+Open Support Leg,Archtrl Foot,Fxd Hght, 12D Shared +metallic champagne Tag(s): 1ST FLOOR D.02	66.78	667.80
36	3	FV689.P CN	+Support Leg,Post +metallic champagne Tag(s): 1ST FLOOR D.02	40.32	120.96
37	3	FV696.43	+Stiffener, 43 1/4W  Tag(s): 1ST FLOOR D.02	18.14	54.42
38	3	FV43C.WM153 0LWT 91	@Ovhd Stg Cab, Open, Wall Mount, Lam Case, Finished Case Top, 15H 30W @white Tag(s): 1ST FLOOR D.02	221.51	664.53
39	3	FV43C.WM153 6LWT 91	@Ovhd Stg Cab, Open, Wall Mount, Lam Case, Finished Case Top, 15H 36W @white Tag(s): 1ST FLOOR D.02	239.65	718.95

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
40	3	G6160.BB	+Twist LED Task Light,Starter unit,Brkt Att  Tag(s): 1ST FLOOR D.02	137.03	411.09
41	3	G6160.CB	+Twist LED Task Light,Add-on unit,Brkt Att  Tag(s): 1ST FLOOR D.02	98.51	295.53
42	3	FV980.WM233 0R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 30W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.02	80.14	240.42
43	4	FV980.WM233 6R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 36W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.02	87.70	350.80
44	1	FV980.WM236 0R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 60W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.02	130.54	130.54
45	8	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 1ST FLOOR D.02	36.54	292.32

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
46	3	LW110.20BF SB SS CN KC NN H1	+Ped W-Pull,Mobile 20D B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed differently, chrome +none +hand grip only Tag(s): 1ST FLOOR D.02	155.37	466.11
47	2	LG890.120 1HA 01	+Pedestal Add-On Cushion Top 1H 20D +medley-Pr Cat 2 +medley stone Tag(s): 1ST FLOOR D.02	45.06	90.12
48	6	Y91171.CM 0I	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver Tag(s): 1ST FLOOR D.02	146.68	880.08
49	3	Y7737.1A 0H	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 1ST FLOOR D.02	156.56	469.68
50	1	FTS10.2460L S 91 91	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 60W, No Brkts +white +white Tag(s): 1ST FLOOR D.03	83.33	83.33

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
51	1	FV696.43	+Stiffener, 43 1/4W  Tag(s): 1ST FLOOR D.03	18.14	18.14
52	1	FV43C.WM156 0LWT  91	@Ovhd Stg Cab, Open, Wall Mount, Lam Case, Finished Case Top, 15H 60W @white Tag(s): 1ST FLOOR D.03	285.26	285.26
53	1	G6160.AB	+Twist LED Task Light,Single unit,Brkt Att  Tag(s): 1ST FLOOR D.03	113.71	113.71
54	1	FV980.WM236 0R  21 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 60W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.03	130.54	130.54
55	1	LW110.20BF SB SS CN KC NN H1	+Ped W-Pull,Mobile 20D B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed differently, chrome +none +hand grip only Tag(s): 1ST FLOOR D.03	155.37	155.37
56	1	LG890.120  1HA 01	+Pedestal Add-On Cushion Top 1H 20D +medley-Pr Cat 2 +medley stone CONTINUED...	45.06	45.06

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Tag(s): 1ST FLOOR D.03		
57	2	Y91171.CM	+Flo Single-Screen Monitor Arm Support,Surf Clamp +silver	146.68	293.36
		0I	Tag(s): 1ST FLOOR D.03		
58	1	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black	156.56	156.56
		0H	Tag(s): 1ST FLOOR D.03		
59	1	FTS10.2448L	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 48W, No Brkts	62.62	62.62
		S	+white		
		91	+white		
		91	Tag(s): 1ST FLOOR D.04		
60	5	FTS10.3072L	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 72W, No Brkts	138.37	691.85
		S	+white		
		91	+white		
		91	Tag(s): 1ST FLOOR D.05		
61	5	FTS21.3048L	+Concave Corner Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 48W, No Brkts	142.66	713.30
		S	+white		
		91	CONTINUED...		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
62	5	FTS10.3048LS	91 +white Tag(s): 1ST FLOOR D.05  +Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 48W, No Brkts 91 +white 91 +white Tag(s): 1ST FLOOR D.05	84.59	422.95
63	10	FT29B.1	+Surface Ganging Bracket,single  Tag(s): 1ST FLOOR D.05	5.81	58.10
64	10	FV2A2.2BFS	CN +Open Support Leg,Archtrl Foot,Fxd Hght, 24D Shared +metallic champagne Tag(s): 1ST FLOOR D.05	109.87	1,098.70
65	5	FV689.P	CN +Support Leg,Post +metallic champagne Tag(s): 1ST FLOOR D.05	40.32	201.60
66	5	FV696.48	+Stiffener, 48W  Tag(s): 1ST FLOOR D.05	18.14	90.70
67	5	FV43H.WM1548LWTL	KA @Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 48W @keyed alike CONTINUED...	337.68	1,688.40

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
68	5	G6160.AB	91 @white 91 @white Tag(s): 1ST FLOOR D.05  +Twist LED Task Light,Single unit,Brkt Att  Tag(s): 1ST FLOOR D.05	113.71	568.55
69	5	FV980.WM234 8R 21 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 48W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.05	105.84	529.20
70	5	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 1ST FLOOR D.05	36.54	182.70
71	5	LW140.28BBF SB SS CN KA 2F NN	+Ped W-Pull, Surface Att 28D,B/B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none Tag(s): 1ST FLOOR D.05	176.33	881.65

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
72	5	LW140.28FF	+Ped W-Pull, Surface Att 28D,F/F  SB SS CN KA 2F NN  +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none  Tag(s): 1ST FLOOR D.05	149.86	749.30
73	10	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver  0I  Tag(s): 1ST FLOOR D.05	146.68	1,466.80
74	3	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black  0H  Tag(s): 1ST FLOOR D.05	156.56	469.68
75	3	1B2JK7- 230	+Lock Plug and Key,Chrome UM Series +key number 230  Tag(s): 1ST FLOOR D.05	2.62	7.86
76	3	1B2JK7- 231	+Lock Plug and Key,Chrome UM Series +key number 231  Tag(s): 1ST FLOOR D.05	2.62	7.86
77	3	1B2JK7- 232	+Lock Plug and Key,Chrome UM Series +key number 232 CONTINUED...	2.62	7.86

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Tag(s): 1ST FLOOR D.05		
78	3	1B2JK7- 233	+Lock Plug and Key,Chrome UM Series +key number 233 Tag(s): 1ST FLOOR D.05	2.62	7.86
79	3	1B2JK7- 234	+Lock Plug and Key,Chrome UM Series +key number 234 Tag(s): 1ST FLOOR D.05	2.62	7.86
80	1	DU6ACS.3084 LE NNP SUD 91 91 CN PSC NNN 57	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 84W  @no power access @simple up down @white @white @metallic champagne leg with metallic champagne fo @simple cable @no cutout @glides Tag(s): 1ST FLOOR D.05 HAT	888.44	888.44
81	1	FTS10.3096L S 91 91	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 96W, No Brkts +white +white Tag(s): 1ST FLOOR D.05 HAT	174.73	174.73

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
82	2	FV696.71	+Stiffener, 71 1/2W  Tag(s): 1ST FLOOR D.05 HAT	18.14	36.28
83	1	FV2A2.30FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 30D +metallic champagne CN Tag(s): 1ST FLOOR D.05 HAT	115.42	115.42
84	1	FV43H.WM154 8LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 48W KA 91 91 Tag(s): 1ST FLOOR D.05 HAT	337.68	337.68
85	1	G6160.AB	+Twist LED Task Light,Single unit,Brkt Att  Tag(s): 1ST FLOOR D.05 HAT	113.71	113.71
86	1	FV980.WM234 8R 21 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 48W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.05 HAT	105.84	105.84
87	1	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 1ST FLOOR D.05 HAT	36.54	36.54

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
88	1	LW100.24BBF SB SS CN KA 2F NN	+Ped W-Pull,Freestd 24D B/B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +raised height +none Tag(s): 1ST FLOOR D.05 HAT	162.70	162.70
89	1	LW140.28FF SB SS CN KA 2F NN	+Ped W-Pull, Surface Att 28D,F/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none Tag(s): 1ST FLOOR D.05 HAT	149.86	149.86
90	2	Y91171.CM 0I	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver Tag(s): 1ST FLOOR D.05 HAT	146.68	293.36
91	1	Y7737.1A 0H	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 1ST FLOOR D.05 HAT	156.56	156.56
92	3	1B2JK7- 235	+Lock Plug and Key,Chrome UM Series +key number 235 Tag(s): 1ST FLOOR D.05 HAT	2.62	7.86

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
93	4	FT29B.2	+Surface Ganging Bracket,pair  Tag(s): 1ST FLOOR D.06	10.86	43.44
94	2	FTS10.3684LS	@Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 36D 84W, No Brkts  +medium matte walnut +medium matte walnut Tag(s): 1ST FLOOR D.06	178.27	356.54
95	2	FTS10.3060LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 60W, No Brkts  +medium matte walnut +medium matte walnut Tag(s): 1ST FLOOR D.06	110.85	221.70
96	2	FTS10.2484LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 84W, No Brkts  +medium matte walnut +medium matte walnut Tag(s): 1ST FLOOR D.06	130.29	260.58
97	4	FV2E2.S24FL	+Closed Support Leg,for Sq-Edge Surface, 24"D,Fxd Hght, Lam  +medium matte walnut Tag(s): 1ST FLOOR D.06	72.58	290.32
98	4	FV2E2.S36FL	+Closed Support Leg,for Sq-Edge Surface, 36"D,Fxd Hght, Lam CONTINUED...	75.10	300.40

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
99	2	FV696.43	LBU +medium matte walnut Tag(s): 1ST FLOOR D.06  +Stiffener, 43 1/4W Tag(s): 1ST FLOOR D.06	18.14	36.28
100	6	FV696.67	+Stiffener, 66 3/4W Tag(s): 1ST FLOOR D.06	18.14	108.84
101	2	FV697.84FL	+Modesty Panel,full modesty panel, 84W Lam +white Tag(s): 1ST FLOOR D.06	178.67	357.34
102	2	FV697.84HL	+Modesty Panel,half modesty panel, 84W Lam +white Tag(s): 1ST FLOOR D.06	110.38	220.76
103	4	FV43H.WM154 2LWTL	91 @Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 42W KA LBU LBU @keyed alike @medium matte walnut @medium matte walnut Tag(s): 1ST FLOOR D.06	332.64	1,330.56
104	2	G6160.BB	+Twist LED Task Light,Starter unit,Brkt Att  CONTINUED...	137.03	274.06

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
105	2	G6160.CB	Tag(s): 1ST FLOOR D.06  +Twist LED Task Light,Add-on unit,Brkt Att	98.51	197.02
106	4	FV980.WM234 2R 21 02	Tag(s): 1ST FLOOR D.06  +Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 42W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.06	96.77	387.08
107	4	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12	36.54	146.16
108	1	FF56M.73622 XLLTL  LBU LBU KA	Tag(s): 1ST FLOOR D.06  @Wood Vert Tower w/Part Enclsr,2-1/4H Base,Wrdrb L/Open R,Lam Case/Door,Lam Base,Fin Top,Lock,68H 36W 20D @medium matte walnut @medium matte walnut @keyed alike Tag(s): 1ST FLOOR D.06	576.32	576.32
109	1	FF56M.73622 XRLTL	@Wood Vert Tower w/Part Enclsr,2-1/4H Base,Open L/Wrdrb R,Lam Case/Door,Lam Base,Fin Top,Lock,68H 36W 20D CONTINUED...	576.32	576.32

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:			TERMS:		
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION		
110	2	LK10D.24BBF	<p>LBU @medium matte walnut LBU @medium matte walnut KA @keyed alike Tag(s): 1ST FLOOR D.06</p> <p>SB +Ped Bar Pull, Freestd, Ptd Mtl Frnt, 24D B/B/F XS +full-extension ball-bearing 91 +textured paint on smooth steel KA +white CN +keyed alike 2F +metallic champagne NN +raised height +none Tag(s): 1ST FLOOR D.06</p>	193.09	386.18
111	2	LK20D.361	<p>XS +Lat File, Bar Pull Freestd, Ptd Mtl Frnt, 2 Dwr Raised Hgt 36W 91 +textured paint on smooth steel KA +white CN +keyed alike NO +metallic champagne 2R +no counterweight (must gang or anchor) +side-to-side filing rail Tag(s): 1ST FLOOR D.06</p>	342.84	685.68
112	4	Y91171.CM	<p>01 +Flo Single-Screen Monitor Arm Support, Surf Clamp +silver Tag(s): 1ST FLOOR D.06</p>	146.68	586.72

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
113	2	Y7737.1A 0H	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 1ST FLOOR D.06	156.56	313.12
114	5	1B2JK7- 236	+Lock Plug and Key,Chrome UM Series +key number 236 Tag(s): 1ST FLOOR D.06	2.62	13.10
115	5	1B2JK7- 237	+Lock Plug and Key,Chrome UM Series +key number 237 Tag(s): 1ST FLOOR D.06	2.62	13.10
116	2	DU6ACS.3084 LE NNP SUD LBU LBU CN PSC NNN 57	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 84W @no power access @simple up down @medium matte walnut @medium matte walnut @metallic champagne leg with metallic champagne fo @simple cable @no cutout @glides Tag(s): 1ST FLOOR D.07 HAT	888.44	1,776.88
117	2	FTS10.3096L S LBU LBU	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 96W, No Brkts +medium matte walnut +medium matte walnut CONTINUED...	174.73	349.46

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
118	4	FV696.71	Tag(s): 1ST FLOOR D.07 HAT +Stiffener, 71 1/2W	18.14	72.56
119	1	FV2A2.30FL	Tag(s): 1ST FLOOR D.07 HAT +Open Support Leg,Archtrl Foot,Fxd Hght,Lft 30D +metallic champagne	115.42	115.42
120	1	FV2A2.30FR	Tag(s): 1ST FLOOR D.07 HAT +Open Support Leg,Archtrl Foot,Fxd Hght,Rt 30D +metallic champagne	115.42	115.42
121	2	FV43H.WM156 0LWTL	Tag(s): 1ST FLOOR D.07 HAT @Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 60W KA LBU LBU @keyed alike @medium matte walnut @medium matte walnut	425.88	851.76
122	2	G6160.AB	Tag(s): 1ST FLOOR D.07 HAT +Twist LED Task Light,Single unit,Brkt Att	113.71	227.42

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
123	2	FV980.WM236 0R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 60W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 1ST FLOOR D.07 HAT	130.54	261.08
124	2	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 1ST FLOOR D.07 HAT	36.54	73.08
125	1	PD-SA764611	Storage Tower * Standard Product Reference:L2T.S6824301BLL02KMLBUL * Modified Product Reference::L2T.S6824301**L02KMLBU * Deviation::Front Facing * Height:68:68" high * Width:24:24" wide * Depth:30:30" deep * Base/Foot Height:1:base * Configuration:**:file/file with full front facing * Case/Front Material:L:laminate * Top Material:02:3/4" low-pressure laminate with th * Pull Type:K:bar pull * Interior Drawer Material:M:metal * Case/Front Finish:LBU:medium matte walnut * Top/Edge Finish:LBU:medium matte walnut * Pull Finish:MS:metallic silver * Lock Option:KA:keyed alike * Double divider:**:Will have a double vertical divi * Pulls and locks:**:Both doors locking. Pulls and * NOTE:**:The fixed shelf above the upper box front Tag(s): 1ST FLOOR D.07 HAT	820.86	820.86

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:			TERMS:		
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
126	1	PD-SA764610	Storage Tower * Standard Product Reference:L2T.S6824301BRL02KMLBUL * Modified Product Reference::L2T.S6824301BRL02KMLBU * Deviation::Front Facing * Height:68.68" high * Width:24.24" wide * Depth:30.30" deep * Base/Foot Height:1:base * Configuration:**:file/file with full front facing * Case/Front Material:L:laminate * Top Material:02:3/4" low-pressure laminate with th * Pull Type:K:bar pull * Interior Drawer Material:M:metal * Case/Front Finish:LBU:medium matte walnut * Top/Edge Finish:LBU:medium matte walnut * Pull Finish:MS:metallic silver * Lock Option:KA:keyed alike * Double divider:**:Will have a double vertical divi * Pulls and locks:**:Both doors locking. Pulls and * NOTE:**:The fixed shelf above the upper box front Tag(s): 1ST FLOOR D.07 HAT	820.86	820.86
127	2	LK10D.24BBF	+Ped Bar Pull,Freestd,Ptd Mtl Frnt, 24D B/B/F SB +full-extension ball-bearing SS +smooth paint on smooth steel CN +metallic champagne KA +keyed alike CN +metallic champagne 2F +raised height NN +none Tag(s): 1ST FLOOR D.07 HAT	193.09	386.18

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
128	2	LK14D.28FF	+Ped Bar Pull, Surface Att 28D, Ptd Mtl Frnt, F/F  SB SS CN KA CN 2F NN	185.23	370.46
			+full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +metallic champagne +27 1/4" high (raised height) +none  Tag(s): 1ST FLOOR D.07 HAT		
129	4	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support, Surf Clamp +silver  0I	146.68	586.72
			Tag(s): 1ST FLOOR D.07 HAT		
130	2	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black  0H	156.56	313.12
			Tag(s): 1ST FLOOR D.07 HAT		
131	7	1B2JK7-	+Lock Plug and Key, Chrome UM Series  238	2.62	18.34
			+key number 238  Tag(s): 1ST FLOOR D.07 HAT		
132	7	1B2JK7-	+Lock Plug and Key, Chrome UM Series  239	2.62	18.34
			+key number 239  Tag(s): 1ST FLOOR D.07 HAT		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765
PROPOSAL DESCRIPTION:			TERMS:
CLEARWATER GAS HQ			UPON RECEIPT
LINE	QTY	PRODUCT	DESCRIPTION
133	1	FTS10.3672LS	@Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 36D 72W, No Brkts 91 +white 91 +white Tag(s): 1ST FLOOR D.08
134	1	FV2A2.36FLCN	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 36D +metallic champagne Tag(s): 1ST FLOOR D.08
135	1	FV2A2.36FRCN	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 36D +metallic champagne Tag(s): 1ST FLOOR D.08
136	1	FV696.57	+Stiffener, 57 3/8W Tag(s): 1ST FLOOR D.08
137	1	LW100.24BBFSSCNKC2FNN	+Ped W-Pull,Freestd 24D B/B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed differently, chrome +raised height +none Tag(s): 1ST FLOOR D.08
138	2	Y91171.CM0I	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver Tag(s): 1ST FLOOR D.08

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
139	1	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 1ST FLOOR D.08	156.56	156.56
140	1	DU6ACS.3048	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 48W  NNP SRM 91 91 MS PSC NNN 57  Tag(s): 1ST FLOOR D.15	847.31	847.31
141	1	FTS10.3096L	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 96W, No Brkts  91 91  Tag(s): 1ST FLOOR D.15	174.73	174.73
142	1	FV2A2.30FL	+Open Support Leg,Archrl Foot,Fxd Hght,Lft 30D +metallic silver Tag(s): 1ST FLOOR D.15	115.42	115.42
143	2	FV696.71	+Stiffener, 71 1/2W  Tag(s): 1ST FLOOR D.15	18.14	36.28

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
144	1	FV43H.WM155 4LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 54W  KA 91 91  Tag(s): 1ST FLOOR D.15	356.58	356.58
145	1	G6160.AB	+Twist LED Task Light,Single unit,Brkt Att  Tag(s): 1ST FLOOR D.15	113.71	113.71
146	1	FV980.WM235 4R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 54W +grasscloth-Pr Cat 1 +grasscloth pampas  Tag(s): 1ST FLOOR D.15	127.26	127.26
147	1	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 1ST FLOOR D.15	36.54	36.54
148	1	LW100.24BBF	+Ped W-Pull,Freestd 24D B/B/F SB SS CN KA 2F NN  Tag(s): 1ST FLOOR D.15	162.70	162.70

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
149	1	LW140.28FF	+Ped W-Pull, Surface Att 28D,F/F  SB SS CN KA 2F NN  Tag(s): 1ST FLOOR D.15	149.86	149.86
150	2	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support, Surf Clamp 0I  Tag(s): 1ST FLOOR D.15	146.68	293.36
151	1	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray 0H  Tag(s): 1ST FLOOR D.15	156.56	156.56
152	4	1B2JK7- 240	+Lock Plug and Key, Chrome UM Series Tag(s): 1ST FLOOR D.15	2.62	10.48
153	1	FV43H.WM156 0LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 60W  KA 91 91  Tag(s): 1ST FLOOR D.15	425.88	425.88

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
154	1	FV43H.WM157 2LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 72W  KA 91 91  Tag(s): 1ST FLOOR D.15	491.40	491.40
155	1	LTPL-06020	@Tu File Top, Lam Top/TP Edge 60W 20D  91  @white  Tag(s): 1ST FLOOR D.15	110.00	110.00
156	1	LTPL-07220	@Tu File Top, Lam Top/TP Edge 72W 20D  91  @white  Tag(s): 1ST FLOOR D.15	132.10	132.10
157	2	LW200.303	+Lat File,W-Pull Freestd 3 Dwr 30W  SS CN KA NO 1R  +smooth paint on smooth steel +metallic champagne +keyed alike +no counterweight (must gang or anchor) +front-to-back filing rail  Tag(s): 1ST FLOOR D.15	325.62	651.24
158	2	LW200.363	+Lat File,W-Pull Freestd 3 Dwr 36W  SS CN KA NO  +smooth paint on smooth steel +metallic champagne +keyed alike +no counterweight (must gang or anchor)  CONTINUED...	358.52	717.04

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET		CLEARWATER GAS SYSTEMS 711 MAPLE STREET			
CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER, FL 33765			
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ				UPON RECEIPT	
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
159	8	1B2JK7- 241	+front-to-back filing rail Tag(s): 1ST FLOOR D.15 +Lock Plug and Key,Chrome UM Series +key number 241 Tag(s): 1ST FLOOR D.15	2.62	20.96
160	3	LW200.303 SS CN KA CB 2R	+Lat File,W-Pull Freestd 3 Dwr 30W +smooth paint on smooth steel +metallic champagne +keyed alike +counterweight (recommended) +side-to-side filing rail Tag(s): 1ST FLOOR F.01	325.62	976.86
161	3	1B2JK7- 242	+Lock Plug and Key,Chrome UM Series +key number 242 Tag(s): 1ST FLOOR F.01	2.62	7.86
162	2	LW200.424 SS CN KA CB 2R	+Lat File,W-Pull Freestd 4 Dwr 42W +smooth paint on smooth steel +metallic champagne +keyed alike +counterweight (recommended) +side-to-side filing rail Tag(s): 1ST FLOOR F.02	488.56	977.12

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
163	2	1B2JK7- 243	+Lock Plug and Key,Chrome UM Series +key number 243 Tag(s): 1ST FLOOR F.02	2.62	5.24
164	6	36-1828-4 SS CN T2 KA V V V V B2 CB	@Vertical File,Standard-Pull,18w 28d,4 modules @smooth paint on smooth steel @metallic champagne @1 1/4"-high painted metal top with squared edge @keyed alike @file @file @file @file @file @1 1/2"-high base @counterweight Tag(s): 1ST FLOOR F.03	575.26	3,451.56
165	6	1B2JK7- 243	+Lock Plug and Key,Chrome UM Series +key number 243 Tag(s): 1ST FLOOR F.03	2.62	15.72
166	1	DT1DS.4284L G 91 91 G2 57 254	+Everywhere Oval Table,Squared Edge,Lam Top/Thermo Edge,3-Column Base,Spanner 42D 84W +white +white +graphite satin +glides +cutout for Y1420. or Y1425. - 5 port CONTINUED...	639.80	639.80

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET		CLEARWATER GAS SYSTEMS 711 MAPLE STREET			
CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER, FL 33765			
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ				UPON RECEIPT	
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
167	1	Y1425.FA06	Tag(s): 1ST FLOOR TB.01 @Logic G1000 Grommet Mounted Elec Dist,5 Simplex Recep,Pwr Cord w/Plug End,6' Cord/Conduit @graphite	237.88	237.88
168	1	CC-P9642RT	G1 Tag(s): 1ST FLOOR TB.01 Intermix 96x42x1.125 Rectangular Top Toffee (English Walnut) Square No Cutout (standard)	336.40	336.40
169	2	CC-M24TPB	EN2 Tag(s): 1ST FLOOR TB.02 Intermix 24x8x28.75 - 8" Deep Panel Base Toffee (English Walnut)	309.60	619.20
170	1	DT1AS.3072L	EN2 Tag(s): 1ST FLOOR TB.02 P +Everywhere Rectangular Table,Squared Edge,Lam Top/Thermo Edge,Post Leg 30D 72W 91 91 BK 57 NTG +white +white +black +glides +no grommet	291.61	291.61
Tag(s): 1ST FLOOR TB.03					

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
171	39	DT5AS.2460LT	+Everywhere Flip-Top Rect Table,Squared Edge,Lam Top/Thermo Edge,T-Leg 24D 60W 91 +white 91 +white BK +black 20 +casters Tag(s): 1ST FLOOR TB.04	427.32	16,665.48
172	4	MGA70.S YBP	@Air-Table,Square @white Tag(s): 1ST FLOOR TERRACE TBD	252.00	1,008.00
173	4	MGF00.YGM	@Chair First, 4/Pkg @white Tag(s): 1ST FLOOR TERRACE TBD	654.60	2,618.40
174	4	MGD20.H YFB	@Deja-Vu Stool,High Hght @black Tag(s): 1ST FLOOR TERRACE TBD	319.80	1,279.20
175	2	MGE80.R43 YHB YHB	@Table_One,Bistro, Round 43H @black @black Tag(s): 1ST FLOOR TERRACE TBD	684.60	1,369.20
176	16	KAS-0936H	Painted Steel Rect. Planter w/ Liner and Adj. Glides, 36" H x 9" W x 36"D ?? INCOMPLETE OPTIONS Tag(s): 1ST FLOOR TERRACE TBD	671.88	10,750.08

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
177	2	554138	Adirondack Lounge Chair, H 33" W 28.75" D 33.75" Seat H 11.75" Arm H 19.75", Charcoal Grey ?? INCOMPLETE OPTIONS Tag(s): 1ST FLOOR TERRACE TBD	393.75	787.50
178	2	554145	Adirondack Ottoman, H 11.75" W 19" D 17", Charcoal Grey ?? INCOMPLETE OPTIONS Tag(s): 1ST FLOOR TERRACE TBD	173.25	346.50
179	1	554152	Adirondack Side Table, H 14" W 19.5" D 19.5", Charcoal Grey ?? INCOMPLETE OPTIONS Tag(s): 1ST FLOOR TERRACE TBD	196.88	196.88
180	1		SLANT SOFA 3 SEAT - CIRRUS, SEAT, BACK AND SIDES  Tag(s): 1ST FLOOR TERRACE TBD	3,185.72	3,185.72
181	1		COM ALLOWANCE FOR 3 SEAT SOFA  Tag(s): 1ST FLOOR TERRACE TBD	153.85	153.85
182	2		SLANT LOUNGE CHAIR - CIRRUS, SEAT, BACK AND SIDES  Tag(s): 1ST FLOOR TERRACE TBD	1,353.27	2,706.54
183	9		COM ALLOWANCE FOR LOUNGE CHAIR  Tag(s): 1ST FLOOR TERRACE TBD	153.85	1,384.65

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
184	1		SLANT COCKTAIL TABLE SQ 102 STONE TOP  Tag(s): 1ST FLOOR TERRACE TBD	1,067.46	1,067.46
185	2		SLANT SIDE TABLE RD 51 STONE TOP  Tag(s): 1ST FLOOR TERRACE TBD	438.74	877.48
186	1		TITAN TILT CANTILEVER UMB 400 (13') SQ FRAME  Tag(s): 1ST FLOOR TERRACE TBD	3,658.44	3,658.44
187	2	5110-601	Basil 60 Deg Inside Wedge Loveseat  X9 X9 X9 C8 EBY X9 7 ETC7 X9 X9  Tag(s): 2ND FLOOR 7-230	1,739.20	3,478.40
188	1	810-36RD-15	X&O Tables 36x36x15 Cylinder Table  T X9 ~HPLS  HPL HPL HPL Solid Finish CONTINUED...	744.40	744.40

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			BLP X9 X9 X9 X9 Black No Selection of Option No Selection of Option None No Selection of Option Tag(s): 2ND FLOOR 7-230		
189	4	CP-2	Tangent 4x4x0.125 Clamp Plate  Tag(s): 2ND FLOOR 7-230	2.40	9.60
190	4	DSR.	+Eames Molded Plastic Side Chair, Wire Base +black +sparrow +standard glide with felt bottom Tag(s): 2ND FLOOR 7-230	240.00	960.00
191	1	DT-T36RNDT	Nineteen20 36" Round Top Table, TFL or HPL top w/3MM PVC Edge or HPL w/Urethane Edge ~TFL/W/PVC BL2 EY BL2 6903 A2K BKO TFL w/ PVC Edge Black Square Black Low Profile Disc Table Base Dining (Standard) Onyx Tag(s): 2ND FLOOR 7-230	353.20	353.20

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
192	3	F49159-R	Boost, Square Ottoman w/Removable Top Medium, 25 x 25 x 17.75  ~PWD X9 H1S X9 ~TOP 5 MAKN TBD ~SIDE 7 ETC7  Tag(s): 2ND FLOOR 7-230	566.00	1,698.00
193	2	F49458	Boost, Round Ottoman w/Back Medium, 25 x 25 x 22.25  ~PWD X9 X9 X9 H1S X9 ~TOP 7 ETC7 ~SIDE 3 MAMR 3090776  Tag(s): 2ND FLOOR 7-230	513.60	1,027.20

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
194	2	TN-1144WT	Tangent 44x11x41 Straight Wall - Tall B6F UZ UZ UZ X9 7 ETC7	727.20	1,454.40
			3 Rows of Buttons No Power (standard) No Power (standard) No Power (standard) None Grade 7 Material Non-Carded Grade 7 Material Tag(s): 2ND FLOOR 7-230		
195	1	TN-2222CB	Tangent 22x22x18 Curved Bench 3 MAMR 3090776	357.20	357.20
			Grade 3 Material Maharam Murmur Biome 015 Tag(s): 2ND FLOOR 7-230		
196	2	TN-2244B	Tangent 44x22x18 Bench H2H SLV 3 MAMR 3090776	640.80	1,281.60
			2 Outlet Electrical with USB (Front) Silver Grade 3 Material Maharam Murmur Biome 015 Tag(s): 2ND FLOOR 7-230		
197	1	TN-3333CCWT	Tangent 33x33x41 Curved Corner Wall - Tall B6F UZ UZ UZ X9 7 ETC7	1,118.80	1,118.80
			3 Rows of Buttons No Power (standard) No Power (standard) No Power (standard) None Grade 7 Material Non-Carded Grade 7 Material CONTINUED...		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Tag(s): 2ND FLOOR 7-230		
198	2	TN-33C B3Q 5 MAKN 3079773	Tangent 33x4x12 Cushion With Cushion Tie-Downs Grade 5 Material Maharam Keen Gaur 001 Tag(s): 2ND FLOOR 7-230	145.60	291.20
199	2	TP-18x18 6 ETC6	Throw Pillow 18 x 18 Grade 6 Material Other Grade 6 Material Tag(s): 2ND FLOOR 7-230	148.40	296.80
200	2	TP-22x11 5 MAKN 3079773	Throw Pillow 22 x 11 Grade 5 Material Maharam Keen Gaur 001 Tag(s): 2ND FLOOR 7-230	120.40	240.80
201	26	AER1B23DW  ZSS G1 G1 G1 BB BK 231 03	+Work Chair,New Aeron,B Size,Std-Hgt Range Adj,Tlt Lim and Seat Angle,Fully Adj Arms,Non-Uphst Armpads  +PostureFit +graphite +graphite +graphite +2 1/2" hard caster, black yoke, carpet only +black +8Z Pellicle-Pr Cat 1 +8Z Pellicle graphite CONTINUED...	585.75	15,229.50

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
202	14	KNN4SP	Tag(s): 2ND FLOOR CH.01  +Keyn Chair, 4-Leg Base, Seat Pad, Fixed Arms AGL 47 98 98 1HA 01 +acetal glide, carpet only +trivalent chrome +studio white +studio white +medley-Pr Cat 2 +medley stone	262.68	3,677.52
203	12	FLC142SFP	Tag(s): 2ND FLOOR CH.02  @Cosm Work Chair, Low Back Hgt, Std Hgt Range, Self Adj Tilt, Fixed Seat Depth, Fixed Arms CRB CRB CRB GF 845 02 +carbon @carbon @carbon +2 1/2" glide, hard floors or carpet @suspension material-Pr Cat 1 +suspension material carbon	499.82	5,997.84
204	4	DSX.	Tag(s): 2ND FLOOR CH.03  +Eames Molded Plastic Side Chair, 4-Leg Base BK 9J E9 +black +sparrow +standard glide with felt bottom	219.00	876.00
By engaging in business with Workscapes, you agree to the company terms and conditions.					



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
205	2	DU6ACS.2448 LE	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 24D 48W  NNP SUD LBU LBU CN PSC NNN 57	766.87	1,533.74
			@no power access @simple up down @medium matte walnut @medium matte walnut @metallic champagne leg with metallic champagne fo @simple cable @no cutout @glides  Tag(s): 2ND FLOOR D.01 HAT		
206	1	FF56M.73622 XLLTL	@Wood Vert Tower w/Part Enclsr,2-1/4H Base,Wrdrb L/Open R,Lam Case/Door,Lam Base,Fin Top,Lock,68H 36W 20D  LBU LBU KA	576.32	576.32
			@medium matte walnut @medium matte walnut @keyed alike  Tag(s): 2ND FLOOR D.01 HAT		
207	1	FF56M.73622 XRLTL	@Wood Vert Tower w/Part Enclsr,2-1/4H Base,Open L/Wrdrb R,Lam Case/Door,Lam Base,Fin Top,Lock,68H 36W 20D  LBU LBU KA	576.32	576.32
			@medium matte walnut @medium matte walnut @keyed alike  Tag(s): 2ND FLOOR D.01 HAT		
208	2	FTS10.2472L S	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 72W, No Brkts CONTINUED...	102.52	205.04

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
209	2	FTS10.3072LS	+medium matte walnut +medium matte walnut Tag(s): 2ND FLOOR D.01 HAT	138.37	276.74
			LBU LBU		
			+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 72W, No Brkts +medium matte walnut +medium matte walnut Tag(s): 2ND FLOOR D.01 HAT		
210	1	FV2A2.24FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 24D +metallic silver Tag(s): 2ND FLOOR D.01 HAT	109.87	109.87
			MS		
			+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 24D +metallic silver Tag(s): 2ND FLOOR D.01 HAT		
211	1	FV2A2.24FR	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 24D +metallic silver Tag(s): 2ND FLOOR D.01 HAT	109.87	109.87
			MS		
212	1	FV2A2.30FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 30D +metallic silver Tag(s): 2ND FLOOR D.01 HAT	115.42	115.42
			MS		
213	1	FV2A2.30FR	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 30D +metallic silver Tag(s): 2ND FLOOR D.01 HAT	115.42	115.42
			MS		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
214	4	FV696.48	+Stiffener, 48W  Tag(s): 2ND FLOOR D.01 HAT	18.14	72.56
215	2	FV980.WM237 2R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 72W +grasscloth-Pr Cat 1 +grasscloth pampas  Tag(s): 2ND FLOOR D.01 HAT	136.84	273.68
216	1	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 2ND FLOOR D.01 HAT	36.54	36.54
217	2	LW140.24FF  SB SS CN KA 2F NN	+Ped W-Pull, Surface Att 24D,F/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none  Tag(s): 2ND FLOOR D.01 HAT	127.07	254.14
218	2	LW140.28BBF  SB SS CN KA 2F NN	+Ped W-Pull, Surface Att 28D,B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none  CONTINUED...	176.33	352.66

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
PROPOSAL DESCRIPTION:		TERMS:			
CLEARWATER GAS HQ		UPON RECEIPT			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
219	2	Y1113.48NL	Tag(s): 2ND FLOOR D.01 HAT  +Modesty Panel,w/o added cable trough,Lam Top/TP Edge 48W +medium matte walnut +medium matte walnut Tag(s): 2ND FLOOR D.01 HAT	103.36	206.72
220	4	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver Tag(s): 2ND FLOOR D.01 HAT	146.68	586.72
221	2	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 2ND FLOOR D.01 HAT	156.56	313.12
222	3	1B2JK7- 244	+Lock Plug and Key,Chrome UM Series +key number 244 Tag(s): 2ND FLOOR D.01 HAT	2.62	7.86
223	3	1B2JK7- 245	+Lock Plug and Key,Chrome UM Series +key number 245 Tag(s): 2ND FLOOR D.01 HAT	2.62	7.86
224	6	DU6ACS.3084 LE	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 84W CONTINUED...	888.44	5,330.64

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
225	6	FTS10.3096LS	NNP SUD 91 91 CN PSC NNN 57  +Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 96W, No Brkts +white +white Tag(s): 2ND FLOOR D.05 HAT	174.73	1,048.38
226	3	FV2A2.30FLMS	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 30D +metallic silver Tag(s): 2ND FLOOR D.05 HAT	115.42	346.26
227	3	FV2A2.30FRMS	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 30D +metallic silver Tag(s): 2ND FLOOR D.05 HAT	115.42	346.26
228	6	FV43H.WM1548LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 48W KA 91 CONTINUED...	337.68	2,026.08

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:			TERMS:		
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
229	12	FV696.71	91 @white Tag(s): 2ND FLOOR D.05 HAT  +Stiffener, 71 1/2W  Tag(s): 2ND FLOOR D.05 HAT	18.14	217.68
230	6	FV980.WM234 8R 21 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 48W  +grasscloth-Pr Cat 1 +grasscloth pampas  Tag(s): 2ND FLOOR D.05 HAT	105.84	635.04
231	6	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 2ND FLOOR D.05 HAT	36.54	219.24
232	6	G6160.AB	+Twist LED Task Light,Single unit,Brkt Att  Tag(s): 2ND FLOOR D.05 HAT	113.71	682.26
233	6	LW100.24BBF SB SS CN KA 2F NN	+Ped W-Pull,Freestd 24D B/B/F  +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +raised height +none  Tag(s): 2ND FLOOR D.05 HAT	162.70	976.20

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
PROPOSAL DESCRIPTION:		TERMS:			
CLEARWATER GAS HQ		UPON RECEIPT			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
234	6	LW140.28FF	+Ped W-Pull, Surface Att 28D,F/F  SB SS CN KA 2F NN  Tag(s): 2ND FLOOR D.05 HAT	149.86	899.16
235	12	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support, Surf Clamp +silver  0I  Tag(s): 2ND FLOOR D.05 HAT	146.68	1,760.16
236	2	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black  0H  Tag(s): 2ND FLOOR D.05 HAT	156.56	313.12
237	3	1B2JK7- 246	+Lock Plug and Key, Chrome UM Series +key number 246  Tag(s): 2ND FLOOR D.05 HAT	2.62	7.86
238	3	1B2JK7- 247	+Lock Plug and Key, Chrome UM Series +key number 247  Tag(s): 2ND FLOOR D.05 HAT	2.62	7.86
239	3	1B2JK7- 248	+Lock Plug and Key, Chrome UM Series +key number 248 CONTINUED...	2.62	7.86

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ				UPON RECEIPT	
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
240	3	1B2JK7- 249	Tag(s): 2ND FLOOR D.05 HAT +Lock Plug and Key,Chrome UM Series +key number 249 Tag(s): 2ND FLOOR D.05 HAT	2.62	7.86
241	3	1B2JK7- 250	+Lock Plug and Key,Chrome UM Series +key number 250 Tag(s): 2ND FLOOR D.05 HAT	2.62	7.86
242	3	1B2JK7- 251	+Lock Plug and Key,Chrome UM Series +key number 251 Tag(s): 2ND FLOOR D.05 HAT	2.62	7.86
243	2	FTS10.3684L S LBU LBU	@Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 36D 84W, No Brkts +medium matte walnut +medium matte walnut Tag(s): 2ND FLOOR D.06	178.27	356.54
244	1	FTS10.3060L S LBU LBU	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 60W, No Brkts +medium matte walnut +medium matte walnut Tag(s): 2ND FLOOR D.06	110.85	110.85

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
245	1	DU6ACS.3060 LE	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 60W  NNP SUD LBU LBU CN PSC NNN 57	822.16	822.16
			@no power access @simple up down @medium matte walnut @medium matte walnut @metallic champagne leg with metallic champagne fo @simple cable @no cutout @glides  Tag(s): 2ND FLOOR D.06		
246	2	FTS10.2484L S	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 84W, No Brkts  LBU LBU	130.29	260.58
			+medium matte walnut +medium matte walnut  Tag(s): 2ND FLOOR D.06		
247	2	FT29B.2	+Surface Ganging Bracket,pair  Tag(s): 2ND FLOOR D.06	10.86	21.72
248	4	FV2E2.S24FL	+Closed Support Leg,for Sq-Edge Surface, 24"D,Fxd Hght, Lam  LBU	72.58	290.32
			+medium matte walnut  Tag(s): 2ND FLOOR D.06		
249	4	FV2E2.S36FL	+Closed Support Leg,for Sq-Edge Surface, 36"D,Fxd Hght, Lam  LBU	75.10	300.40
			+medium matte walnut CONTINUED...		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET		CLEARWATER GAS SYSTEMS 711 MAPLE STREET			
CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER, FL 33765			
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ				UPON RECEIPT	
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Tag(s): 2ND FLOOR D.06		
250	1	FV696.43	+Stiffener, 43 1/4W	18.14	18.14
			Tag(s): 2ND FLOOR D.06		
251	6	FV696.67	+Stiffener, 66 3/4W	18.14	108.84
			Tag(s): 2ND FLOOR D.06		
252	2	FV697.84FL	+Modesty Panel,full modesty panel, 84W Lam +white	178.67	357.34
		91	Tag(s): 2ND FLOOR D.06		
253	2	FV697.84HL	+Modesty Panel,half modesty panel, 84W Lam +white	110.38	220.76
		91	Tag(s): 2ND FLOOR D.06		
254	1	FF56M.73622	@Wood Vert Tower w/Part Enclsr,2-1/4H Base,Wrdrb L/Open R,Lam Case/Door,Lam Base,Fin Top,Lock,68H 36W 20D	576.32	576.32
		XLLTL			
		LBU	@medium matte walnut		
		LBU	@medium matte walnut		
		KA	@keyed alike		
			Tag(s): 2ND FLOOR D.06		
255	1	FF56M.73622	@Wood Vert Tower w/Part Enclsr,2-1/4H Base,Open L/Wrdrb R,Lam Case/Door,Lam	576.32	576.32
		XRLTL			
			CONTINUED...		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
256	4	FV43H.WM154 2LWTL	Base,Fin Top,Lock,68H 36W 20D LBU @medium matte walnut LBU @medium matte walnut KA @keyed alike Tag(s): 2ND FLOOR D.06  KA @keyed alike LBU @medium matte walnut LBU @medium matte walnut Tag(s): 2ND FLOOR D.06	332.64	1,330.56
257	2	G6160.BB	+Twist LED Task Light,Starter unit,Brkt Att  Tag(s): 2ND FLOOR D.06	137.03	274.06
258	2	G6160.CB	+Twist LED Task Light,Add-on unit,Brkt Att  Tag(s): 2ND FLOOR D.06	98.51	197.02
259	4	FV980.WM234 2R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 42W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 2ND FLOOR D.06	96.77	387.08

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
260	2	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 2ND FLOOR D.06	36.54	73.08
261	1	LK10D.24BBF	+Ped Bar Pull, Freestd, Ptd Mtl Frnt, 24D B/B/F SB XS 91 KA CN 2F NN  +full-extension ball-bearing +textured paint on smooth steel +white +keyed alike +metallic champagne +raised height +none  Tag(s): 2ND FLOOR D.06	193.09	193.09
262	1	LK10D.24BBF	+Ped Bar Pull, Freestd, Ptd Mtl Frnt, 24D B/B/F SB XS 91 KD MS 2F NN  +full-extension ball-bearing +textured paint on smooth steel +white +keyed differently, black +metallic silver +raised height +none  Tag(s): 2ND FLOOR D.06	195.71	195.71
263	1	LK20D.361	+Lat File, Bar Pull Freestd, Ptd Mtl Frnt, 2 Dwr Raised Hgt 36W XS 91 KA CN  +textured paint on smooth steel +white +keyed alike +metallic champagne  CONTINUED...	342.84	342.84

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
264	1	LK20D.361	NO 2R  XS 91 KD MS NO 2R +no counterweight (must gang or anchor) +side-to-side filing rail Tag(s): 2ND FLOOR D.06	345.41	345.41
265	4	Y91171.CM	0I  +Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver Tag(s): 2ND FLOOR D.06	146.68	586.72
266	2	Y7737.1A	0H  +LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 2ND FLOOR D.06	156.56	313.12
267	3	1B2JK7-	252  +Lock Plug and Key,Chrome UM Series +key number 252 Tag(s): 2ND FLOOR D.06	2.62	7.86
268	3	1B2JK7-	253  +Lock Plug and Key,Chrome UM Series +key number 253 CONTINUED...	2.62	7.86

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Tag(s): 2ND FLOOR D.06		
269	2	FTS10.3060LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 60W, No Brkts +medium matte walnut +medium matte walnut	110.85	221.70
		LBU	Tag(s): 2ND FLOOR D.07		
		LBU			
270	2	FTS10.3096LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 96W, No Brkts +medium matte walnut +medium matte walnut	174.73	349.46
		LBU	Tag(s): 2ND FLOOR D.07		
		LBU			
271	2	FTS21.3048LS	+Concave Corner Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 48W, No Brkts +medium matte walnut +medium matte walnut	142.66	285.32
		LBU	Tag(s): 2ND FLOOR D.07		
		LBU			
272	4	FT29B.1	+Surface Ganging Bracket,single	5.81	23.24
			Tag(s): 2ND FLOOR D.07		
273	4	FV2A2.2BFS	+Open Support Leg,Archtrl Foot,Fxd Hght, 24D Shared +metallic champagne	109.87	439.48
		CN	CONTINUED...		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ				UPON RECEIPT	
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
274	2	FV689.P CN	Tag(s): 2ND FLOOR D.07  +Support Leg,Post +metallic champagne Tag(s): 2ND FLOOR D.07	40.32	80.64
275	2	FV696.39	+Stiffener, 38 5/8W  Tag(s): 2ND FLOOR D.07	18.14	36.28
276	4	FV696.71	+Stiffener, 71 1/2W  Tag(s): 2ND FLOOR D.07	18.14	72.56
277	2	FV43H.WM156 0LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 60W  KA LBU LBU Tag(s): 2ND FLOOR D.07	425.88	851.76
278	2	FV980.WM236 0R 21 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 60W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 2ND FLOOR D.07	130.54	261.08
279	2	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12 CONTINUED...	36.54	73.08

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
280	2	G6160.AB	Tag(s): 2ND FLOOR D.07  +Twist LED Task Light,Single unit,Brkt Att	113.71	227.42
281	1	PD-SA764611	Tag(s): 2ND FLOOR D.07  Storage Tower * Standard Product Reference:L2T.S6824301BLL02KMLBUL * Modified Product Reference::L2T.S6824301**L02KMLBU * Deviation::Front Facing * Height:68:68" high * Width:24:24" wide * Depth:30:30" deep * Base/Foot Height:1:base * Configuration:**:file/file with full front facing * Case/Front Material:L:laminate * Top Material:02:3/4" low-pressure laminate with th * Pull Type:K:bar pull * Interior Drawer Material:M:metal * Case/Front Finish:LBU:medium matte walnut * Top/Edge Finish:LBU:medium matte walnut * Pull Finish:MS:metallic silver * Lock Option:KA:keyed alike * Double divider:**:Will have a double vertical divi * Pulls and locks:**:Both doors locking. Pulls and * NOTE:**:The fixed shelf above the upper box front * Tag(s): 2ND FLOOR D.07	820.86	820.86
282	1	PD-SA764610	Storage Tower * Standard Product Reference:L2T.S6824301BRL02KMLBUL * Modified Product Reference::L2T.S6824301BRL02KMLBU CONTINUED...	820.86	820.86

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:			TERMS:		
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Deviation::Front Facing Height:68:68" high Width:24:24" wide Depth:30:30" deep Base/Foot Height:1:base Configuration:**:file/file with full front facing Case/Front Material:L:laminate Top Material:02:3/4" low-pressure laminate with th Pull Type:K:bar pull Interior Drawer Material:M:metal Case/Front Finish:LBU:medium matte walnut Top/Edge Finish:LBU:medium matte walnut Pull Finish:MS:metallic silver Lock Option:KA:keyed alike Double divider:**:Will have a double vertical divi Pulls and locks:**:Both doors locking. Pulls and NOTE:**:The fixed shelf above the upper box front Tag(s): 2ND FLOOR D.07		
283	2	LK14D.28BBF	+Ped Bar Pull, Surface Att 28D,Ptd Mtl Frnt,B/B/F SB SS CN KA MS 2F NN Tag(s): 2ND FLOOR D.07	193.88	387.76
284	2	LK14D.28FF	+Ped Bar Pull, Surface Att 28D,Ptd Mtl Frnt,F/F SB +full-extension ball-bearing CONTINUED...	185.23	370.46

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			SS CN KA MS 2F NN	+smooth paint on smooth steel +metallic champagne +keyed alike +metallic silver +27 1/4" high (raised height) +none	
			Tag(s): 2ND FLOOR D.07		
285	4	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver	146.68	586.72
		01	Tag(s): 2ND FLOOR D.07		
286	2	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black	156.56	313.12
		0H	Tag(s): 2ND FLOOR D.07		
287	6	1B2JK7-	+Lock Plug and Key,Chrome UM Series	2.62	15.72
		254	+key number 254		
			Tag(s): 2ND FLOOR D.07		
288	6	1B2JK7-	+Lock Plug and Key,Chrome UM Series	2.62	15.72
		255	+key number 255		
			Tag(s): 2ND FLOOR D.07		
289	2	DU6ACS.3084	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 84W	930.36	1,860.72
		LE	@no power access		
		NNP	CONTINUED...		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			SRM LBU LBU CN PSC NNN 57	@digital read out with memory @medium matte walnut @medium matte walnut @metallic champagne leg with metallic champagne fo @simple cable @no cutout @glides	
				Tag(s): 2ND FLOOR D.07 HAT	
290	2	FTS10.3084LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 84W, No Brkts  LBU LBU	161.35	322.70
				+medium matte walnut +medium matte walnut	
				Tag(s): 2ND FLOOR D.07 HAT	
291	1	FV2A2.30FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 30D  MS	115.42	115.42
				+metallic silver	
				Tag(s): 2ND FLOOR D.07 HAT	
292	1	FV2A2.30FR	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 30D  MS	115.42	115.42
				+metallic silver	
				Tag(s): 2ND FLOOR D.07 HAT	
293	2	FV696.62	+Stiffener, 62 1/8W	18.14	36.28
				Tag(s): 2ND FLOOR D.07 HAT	
294	2	FV43H.WM153 6LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H	321.30	642.60
				CONTINUED...	

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
295	2	G6160.AB	<p>36W KC LBU LBU</p> <p>@keyed differently, chrome @medium matte walnut @medium matte walnut Tag(s): 2ND FLOOR D.07 HAT</p> <p>+Twist LED Task Light,Single unit,Brkt Att</p> <p>Tag(s): 2ND FLOOR D.07 HAT</p>	113.71	227.42
296	2	FV980.WM233 6R 2I 02	<p>+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 36W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 2ND FLOOR D.07 HAT</p>	87.70	175.40
297	2	FV985.21	<p>@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12</p> <p>Tag(s): 2ND FLOOR D.07 HAT</p>	36.54	73.08
298	1	PD-SA764611	<p>Storage Tower * Standard Product Reference:L2T.S6824301BLL02KMLBUL * Modified Product Reference::L2T.S6824301**L02KMLBU * Deviation::Front Facing * Height:68:68" high * Width:24:24" wide * Depth:30:30" deep * Base/Foot Height:1:base * Configuration:**:file/file with full front facing * Case/Front Material:L:laminate</p> <p>CONTINUED...</p>	820.86	820.86

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			* Top Material:02:3/4" low-pressure laminate with th * Pull Type:K:bar pull * Interior Drawer Material:M:metal * Case/Front Finish:LBU:medium matte walnut * Top/Edge Finish:LBU:medium matte walnut * Pull Finish:MS:metallic silver * Lock Option:KA:keyed alike * Double divider:**:Will have a double vertical divi * Pulls and locks:**:Both doors locking. Pulls and * NOTE:**:The fixed shelf above the upper box front Tag(s): 2ND FLOOR D.07 HAT		
299	1	PD-SA764610	Storage Tower  * Standard Product Reference:L2T.S6824301BRL02KMLBUL * Modified Product Reference::L2T.S6824301BRL02KMLBU * Deviation::Front Facing * Height:68:68" high * Width:24:24" wide * Depth:30:30" deep * Base/Foot Height:1:base * Configuration:**:file/file with full front facing * Case/Front Material:L:laminate * Top Material:02:3/4" low-pressure laminate with th * Pull Type:K:bar pull * Interior Drawer Material:M:metal * Case/Front Finish:LBU:medium matte walnut * Top/Edge Finish:LBU:medium matte walnut * Pull Finish:MS:metallic silver * Lock Option:KA:keyed alike * Double divider:**:Will have a double vertical divi * Pulls and locks:**:Both doors locking. Pulls and * NOTE:**:The fixed shelf above the upper box front Tag(s): 2ND FLOOR D.07 HAT	820.86	820.86

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
300	2	LK10D.24BBF	+Ped Bar Pull, Freestd, Ptd Mtl Frnt, 24D B/B/F  SB +full-extension ball-bearing SS +smooth paint on smooth steel CN +metallic champagne KA +keyed alike MS +metallic silver 2F +raised height NN +none  Tag(s): 2ND FLOOR D.07 HAT	193.09	386.18
301	2	LK14D.28FF	+Ped Bar Pull, Surface Att 28D, Ptd Mtl Frnt, F/F  SB +full-extension ball-bearing SS +smooth paint on smooth steel CN +metallic champagne KA +keyed alike MS +metallic silver 2F +27 1/4" high (raised height) NN +none  Tag(s): 2ND FLOOR D.07 HAT	185.23	370.46
302	4	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support, Surf Clamp +silver  0I  Tag(s): 2ND FLOOR D.07 HAT	146.68	586.72
303	2	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black  0H  Tag(s): 2ND FLOOR D.07 HAT	156.56	313.12

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
304	6	1B2JK7- 256	+Lock Plug and Key,Chrome UM Series +key number 256 Tag(s): 2ND FLOOR D.07 HAT	2.62	15.72
305	6	1B2JK7- 257	+Lock Plug and Key,Chrome UM Series +key number 257 Tag(s): 2ND FLOOR D.07 HAT	2.62	15.72
306	8	FT110.5724X	+Frame,No Base Covers 57H 24W  Tag(s): 2ND FLOOR D.09	46.71	373.68
307	4	FT110.5730X	+Frame,No Base Covers 57H 30W  Tag(s): 2ND FLOOR D.09	48.99	195.96
308	4	FT110.5736X	+Frame,No Base Covers 57H 36W  Tag(s): 2ND FLOOR D.09	51.51	206.04
309	8	FT114.1124P 5A 91	+Frame Top Screen,Ptd Stndrd Top Cap,Opal Etched 1/4 thick, 11H 24W +white Tag(s): 2ND FLOOR D.09	93.93	751.44
310	4	FT114.1166G 5A 91	@Frame Top Screen,Ptd Std Top Cap 2 Frm,Opal Etched 1/4 thick, 11H 66W +white Tag(s): 2ND FLOOR D.09	178.52	714.08

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
311	4	FT121.257	+Conn 90,Universal,2way,90 deg-for 53H frames and higher  Tag(s): 2ND FLOOR D.09	24.49	97.96
312	4	FT123.257BP	+Conn Cover 90-Deg, 2 Sides Covered,Base Cover Ptd 57H +white Tag(s): 2ND FLOOR D.09	15.91	63.64
313	4	FT126.2AP	+Top Cap, Conn 90-Deg, Connects-2 Frame Top Caps, 90-Deg Ptd +white Tag(s): 2ND FLOOR D.09	8.08	32.32
314	4	FT128.57	+Connection Hardware, Frame-to-Frame 57H  Tag(s): 2ND FLOOR D.09	8.33	33.32
315	8	FT160.57BP	+Finished End,Base Cover Ptd 57H +white Tag(s): 2ND FLOOR D.09	16.67	133.36
316	7	FT180.5224T	+Tile,Full-Height,Tackable Fabric 52H 24W +white +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 2ND FLOOR D.09	42.42	296.94

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
317	1	FT180.5224T	+Tile,Full-Height,Tackable Fabric 52H 24W  91 8T 22 Tag(s): 2ND FLOOR D.09	42.42	42.42
318	4	FT180.5230T	+Tile,Full-Height,Tackable Fabric 52H 30W  91 21 02 Tag(s): 2ND FLOOR D.09	46.46	185.84
319	4	FT180.5236T	+Tile,Full-Height,Tackable Fabric 52H 36W  91 21 02 Tag(s): 2ND FLOOR D.09	58.33	233.32
320	8	FT181.2224L	+Upper Tile, Lam 22H 24W  91 91 Tag(s): 2ND FLOOR D.09	81.56	652.48
321	4	FT181.2230L	+Upper Tile, Lam 22H 30W  91 91 Tag(s): 2ND FLOOR D.09	87.11	348.44
322	4	FT181.2236L	+Upper Tile, Lam 22H 36W  91 91 CONTINUED...	92.16	368.64

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
323	8	FT190.57	Tag(s): 2ND FLOOR D.09 +Wall Start 57H	18.94	151.52
324	8	FT375.3524L	Tag(s): 2ND FLOOR D.09 +Tile,To-The-Floor Lower,Laminate 35H 24W 91 91 Tag(s): 2ND FLOOR D.09	111.35	890.80
325	4	FT375.3530L	Tag(s): 2ND FLOOR D.09 +Tile,To-The-Floor Lower,Laminate 35H 30W 91 91 Tag(s): 2ND FLOOR D.09	119.18	476.72
326	4	FT375.3536L	Tag(s): 2ND FLOOR D.09 +Tile,To-The-Floor Lower,Laminate 35H 36W 91 91 Tag(s): 2ND FLOOR D.09	129.28	517.12
327	8	FT963.24NTF	Tag(s): 2ND FLOOR D.09 +Single-Sided Base Cover Kit,no knockouts,Attchmnt To-The-Floor Tiles on 1 Side 24W WN @warm grey neutral Tag(s): 2ND FLOOR D.09	10.35	82.80

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
328	4	FT963.30NTF	+Single-Sided Base Cover Kit,no knockouts,Attchmnt To-The-Floor Tiles on 1 Side 30W WN @warm grey neutral Tag(s): 2ND FLOOR D.09	10.86	43.44
329	4	FT963.36NTF	+Single-Sided Base Cover Kit,no knockouts,Attchmnt To-The-Floor Tiles on 1 Side 36W WN @warm grey neutral Tag(s): 2ND FLOOR D.09	11.62	46.48
330	4	DV6ACS.3072	@Rect Table w/C-Foot, Sq-Edge, Lam Top/TP Edge, Elec Std Range, 30D 72W LE STS 91 91 CN 57 @simple up/down touch switch @white @white @metallic champagne @glides Tag(s): 2ND FLOOR D.09	598.41	2,393.64
331	4	FTS10.2466LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 66W, No Brkts 91 91 Tag(s): 2ND FLOOR D.09	94.44	377.76
332	4	FV2A2.24FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 24D CN +metallic champagne CONTINUED...	109.87	439.48

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			Tag(s): 2ND FLOOR D.09		
333	4	FV2A2.24FR CN	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 24D +metallic champagne Tag(s): 2ND FLOOR D.09	109.87	439.48
334	4	FV43C.WM153 0LWT 91	@Ovhd Stg Cab, Open, Wall Mount, Lam Case, Finished Case Top, 15H 30W @white Tag(s): 2ND FLOOR D.09	221.51	886.04
335	4	FV43C.WM153 6LWT 91	@Ovhd Stg Cab, Open, Wall Mount, Lam Case, Finished Case Top, 15H 36W @white Tag(s): 2ND FLOOR D.09	239.65	958.60
336	4	FV696.48	+Stiffener, 48W  Tag(s): 2ND FLOOR D.09	18.14	72.56
337	4	FV980.WM233 0R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 30W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 2ND FLOOR D.09	80.14	320.56
338	4	FV980.WM233 6R 2I	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 36W +grasscloth-Pr Cat 1 CONTINUED...	87.70	350.80

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
339	4	FV985.21	02 +grasscloth pampas Tag(s): 2ND FLOOR D.09  @Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 2ND FLOOR D.09	36.54	146.16
340	4	G6160.BB	+Twist LED Task Light,Starter unit,Brkt Att  Tag(s): 2ND FLOOR D.09	137.03	548.12
341	4	G6160.CB	+Twist LED Task Light,Add-on unit,Brkt Att  Tag(s): 2ND FLOOR D.09	98.51	394.04
342	4	LW110.20BF	SB SS CN KC NN H1 +Ped W-Pull,Mobile 20D B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed differently, chrome +none +hand grip only Tag(s): 2ND FLOOR D.09	155.37	621.48
343	4	LG890.120	1H 20D 1HA 01 +Pedestal Add-On Cushion Top 1H 20D +medley-Pr Cat 2 +medley stone Tag(s): 2ND FLOOR D.09	45.06	180.24

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
344	8	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver Tag(s): 2ND FLOOR D.09	146.68	1,173.44
		0I			
345	4	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 2ND FLOOR D.09	156.56	626.24
		0H			
346	1	LW200.423	+Lat File,W-Pull Freestd 3 Dwr 42W  SS CN KC CB 1R  +smooth paint on smooth steel +metallic champagne +keyed differently, chrome +counterweight (recommended) +front-to-back filing rail Tag(s): 2ND FLOOR F.04	417.37	417.37
		SS			
		CN			
		KC			
		CB			
		1R			
347	8	LW110.20BF	+Ped W-Pull,Mobile 20D B/F SB SS CN KC NN H1  +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed differently, chrome +none +hand grip only Tag(s): 2ND FLOOR F.05	155.37	1,242.96
		SB			
		SS			
		CN			
		KC			
		NN			
		H1			
348	8	LG890.120	+Pedestal Add-On Cushion Top 1H 20D  1HA 01  +medley-Pr Cat 2 +medley stone Tag(s): 2ND FLOOR F.05	45.06	360.48
		1HA			
		01			

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
349	1	DT1AS.3072L P  91 91 BK 57 NTG	+Everywhere Rectangular Table,Squared Edge,Lam Top/Thermo Edge,Post Leg 30D 72W  +white +white +black +glides  +no grommet Tag(s): 2ND FLOOR TB.03	291.61	291.61
350	5	A6030R T ~TFL EN2 EY H5H ~TFL EN2 H5H X9 A9H PS-85S A4W ANC A4G GRPH GRPH	Applause 60x30 Rectangle Top TFL Laminate, or HPL TFL Toffee (English Walnut) Square Matching Edge Finish TFL Toffee (English Walnut) Matching Edge Finish No Front Cap Finish Power Location Center Cutout for PS-85S, (Power/Data Centers must be ord Set of 2 Connector Brackets Deuce Center Flip & Nest Base (set of 2) Black Caster (standard) Graphite Graphite Tag(s): 2ND FLOOR TB.07	742.40	3,712.00
351	5	PS-85S	Silver Power Supply (2) 15 amp outlets (2) 2.1 Amp USB Charging Ports, 10' Power Cord  CONTINUED...	174.80	874.00

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

<b>Proposal for:</b>		<b>INSTALL AT:</b>			
<b>PROPOSAL DESCRIPTION:</b>		<b>TERMS:</b>			
<b>LINE</b>	<b>QTY</b>	<b>PRODUCT</b>	<b>DESCRIPTION</b>	<b>SELL</b>	<b>EXTENDED</b>
			Tag(s): 2ND FLOOR TB.07		
352	2	554091	Adirondack Rocker, H 36.25" W 28" D 33.25" Seat H 14.25" Arm H 21.5", Charcoal Grey	546.88	1,093.76
			Tag(s): 3RD FLOOR 7-330 TBD		
353	4	554138	Adirondack Lounge Chair, H 33" W 28.75" D 33.75" Seat H 11.75" Arm H 19.75", Charcoal Grey	393.75	1,575.00
			Tag(s): 3RD FLOOR 7-330 TBD		
354	4	554145	Adirondack Ottoman, H 11.75" W 19" D 17", Charcoal Grey	173.25	693.00
			Tag(s): 3RD FLOOR 7-330 TBD		
355	3	554152	Adirondack Side Table, H 14" W 19.5" D 19.5", Charcoal Grey	196.88	590.64
			Tag(s): 3RD FLOOR 7-330 TBD		
356	8	KAS-0936H	Painted Steel Rect. Planter w/ Liner and Adj. Glides, 36" H x 9" W x 36"D	671.88	5,375.04
		Ral 9010	Textured White		
			Tag(s): 3RD FLOOR 7-330 TBD		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
357	2	MGA70.S YBP	@Air-Table,Square @white Tag(s): 3RD FLOOR 7-330 TBD	252.00	504.00
358	8	MGD20.H YFB	@Deja-Vu Stool,High Hght @black Tag(s): 3RD FLOOR 7-330 TBD	319.80	2,558.40
359	4	MGE80.R43 YHB YHB	@Table_One,Bistro, Round 43H @black @black Tag(s): 3RD FLOOR 7-330 TBD	684.60	2,738.40
360	2	MGF00. YGM	@Chair First, 4/Pkg @white Tag(s): 3RD FLOOR 7-330 TBD	654.60	1,309.20
361	1		SLANT SOFA 3 SEAT - CIRRUS, SEAT, BACK AND SIDES  Tag(s): 3RD FLOOR 7-330 TBD	3,185.72	3,185.72
362	1		COM ALLOWANCE FOR 3 SEAT SOFA  Tag(s): 3RD FLOOR 7-330 TBD	153.85	153.85
363	2		SLANT LOUNGE CHAIR - CIRRUS, SEAT, BACK AND SIDES  Tag(s): 3RD FLOOR 7-330 TBD	1,353.27	2,706.54
364	9		COM ALLOWANCE FOR LOUNGE CHAIR  Tag(s): 3RD FLOOR 7-330 TBD	153.85	1,384.65

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
365	1		SLANT COCKTAIL TABLE SQ 102 STONE TOP  Tag(s): 3RD FLOOR 7-330 TBD	1,067.46	1,067.46
366	2		SLANT SIDE TABLE RD 51 STONE TOP  Tag(s): 3RD FLOOR 7-330 TBD	438.74	877.48
367	1		TITAN TILT CANTILEVER UMB 400 (13') SQ FRAME  Tag(s): 3RD FLOOR 7-330 TBD	3,658.44	3,658.44
368	15	AER1B23DW	+Work Chair,New Aeron,B Size,Std-Hgt Range Adj,Tilt Lim and Seat Angle,Fully Adj Arms,Non-Uphst Armpads  ZSS G1 G1 G1 BB BK 231 03  +PostureFit +graphite +graphite +graphite +2 1/2" hard caster, black yoke, carpet only +black +8Z Pellicle-Pr Cat 1 +8Z Pellicle graphite  Tag(s): 3RD FLOOR CH.01	585.75	8,786.25
369	8	KNN4SP	+Keyn Chair, 4-Leg Base, Seat Pad, Fixed Arms  AGL 47 98  +acetal glide, carpet only +trivalent chrome +studio white  CONTINUED...	262.68	2,101.44

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
370	9	FLC142SFP	<p>98 +studio white 1HA +medley-Pr Cat 2 01 +medley stone Tag(s): 3RD FLOOR CH.02</p> <p>@Cosm Work Chair, Low Back Hgt, Std Hgt Range, Self Adj Tilt, Fixed Seat Depth, Fixed Arms G1 +graphite G1 +graphite G1 +graphite GF +2 1/2" glide, hard floors or carpet 845 @suspension material-Pr Cat 1 01 +suspension material graphite Tag(s): 3RD FLOOR CH.03</p>	478.75	4,308.75
371	4	LCW.U	<p>@Eames Molded Plywood Lounge Chair Wood Base, Upholstered shell OU @walnut 22V @string plaid-Pr Cat 3 01 +string plaid warm white on khaki Tag(s): 3RD FLOOR CH.04</p>	880.74	3,522.96
372	4	DSX.	<p>+Eames Molded Plastic Side Chair, 4-Leg Base BK +black 9J +sparrow E9 +standard glide with felt bottom Tag(s): 3RD FLOOR CH.05</p>	219.00	876.00

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
373	1	108037  C4R MSL X9 4 MAMD 3069889	Cinque 24x25.25x29.75 Low-Back Guest 4-leg Tubular Metal Base Luster Grey None Grade 4 Material Maharam Mode Sycamore 008 Tag(s): 3RD FLOOR CH.08	466.80	466.80
374	4	MGD20.H YFB	@Deja-Vu Stool,High Hght @black Tag(s): 3RD FLOOR CH.10	319.80	1,279.20
375	4	MGF00. YGM	@Chair First, 4/Pkg @white Tag(s): 3RD FLOOR CH.11	654.60	2,618.40
376	13	CN122AWAA  G1 G1 C7 1HA 02	+Wk Chr,Embody,Std-Ht,Fully Adj Arms +graphite +graphite +2 1/2" caster, black yoke, hard floors or carpet +medley-Pr Cat 2 +medley trail Tag(s): 3RD FLOOR CH.13	677.04	8,801.52
377	2	DU6ACS.2448 LE  NNP SUD LBU LBU	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 24D 48W @no power access @simple up down @medium matte walnut @medium matte walnut CONTINUED...	766.87	1,533.74

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
[WWW.WORKSCAPES.COM](http://WWW.WORKSCAPES.COM)

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscape

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ				UPON RECEIPT	
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			CN PSC NNN 57  Tag(s): 3RD FLOOR D.01 HAT		
378	2	FTS10.2472LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 72W, No Brkts  LBU LBU  Tag(s): 3RD FLOOR D.01 HAT	102.52	205.04
379	2	FTS10.3072LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 72W, No Brkts  LBU LBU  Tag(s): 3RD FLOOR D.01 HAT	138.37	276.74
380	1	FV2A2.24FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 24D +metallic silver  MS  Tag(s): 3RD FLOOR D.01 HAT	109.87	109.87
381	1	FV2A2.24FR	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 24D +metallic silver  MS  Tag(s): 3RD FLOOR D.01 HAT	109.87	109.87
382	1	FV2A2.30FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 30D +metallic silver  MS  CONTINUED...	115.42	115.42

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
383	1	FV2A2.30FR  MS	Tag(s): 3RD FLOOR D.01 HAT  +Open Support Leg,Archtrl Foot,Fxd Hght,Rt 30D +metallic silver Tag(s): 3RD FLOOR D.01 HAT	115.42	115.42
384	4	FV696.48	+Stiffener, 48W  Tag(s): 3RD FLOOR D.01 HAT	18.14	72.56
385	2	FV980.WM237 2R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 72W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 3RD FLOOR D.01 HAT	136.84	273.68
386	2	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 3RD FLOOR D.01 HAT	36.54	73.08
387	1	FF56M.73622 XLLTL  LBU LBU KA	@Wood Vert Tower w/Part Enclsr,2-1/4H Base,Wrdrb L/Open R,Lam Case/Door,Lam Base,Fin Top,Lock,68H 36W 20D  @medium matte walnut @medium matte walnut @keyed alike Tag(s): 3RD FLOOR D.01 HAT	576.32	576.32

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
388	1	FF56M.73622 XRLTL	@Wood Vert Tower w/Part Enclsr,2-1/4H Base,Open L/Wrdrb R,Lam Case/Door,Lam Base,Fin Top,Lock,68H 36W 20D  LBU LBU KA	576.32	576.32
			@medium matte walnut @medium matte walnut @keyed alike Tag(s): 3RD FLOOR D.01 HAT		
389	2	FF81K.30202 L03L	@Wood High Credenza w/Doors,Bar Pull,2 1/4H Base, Lam,3/8" Lam Top,Lock 30W 20D  LBU LBU LBU CN KA	512.06	1,024.12
			+medium matte walnut +medium matte walnut +medium matte walnut @metallic champagne @keyed alike Tag(s): 3RD FLOOR D.01 HAT		
390	2	LW140.24FF	+Ped W-Pull, Surface Att 24D,F/F  SB SS CN KA 2F NN	127.07	254.14
			+full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none Tag(s): 3RD FLOOR D.01 HAT		
391	2	LW140.28BBF	+Ped W-Pull, Surface Att 28D,B/B/F  SB SS CN	176.33	352.66
			+full-extension ball-bearing +smooth paint on smooth steel +metallic champagne CONTINUED...		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
392	2	Y1113.48NL	KA +keyed alike 2F +27 1/4" high (raised height) NN +none Tag(s): 3RD FLOOR D.01 HAT	103.36	206.72
			LBU +medium matte walnut LBU +medium matte walnut Tag(s): 3RD FLOOR D.01 HAT		
393	4	Y91171.CM	+Flo Single-Screen Monitor Arm Support,Surf Clamp +silver 0I Tag(s): 3RD FLOOR D.01 HAT	146.68	586.72
394	2	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black 0H Tag(s): 3RD FLOOR D.01 HAT	156.56	313.12
395	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series 258 +key number 258 Tag(s): 3RD FLOOR D.01 HAT	2.62	7.86
396	5	1B2JK7-	+Lock Plug and Key,Chrome UM Series 259 +key number 259 Tag(s): 3RD FLOOR D.01 HAT	2.62	13.10

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
397	1	DU6ACS.3060 LE	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 60W  NNP SUD LBU LBU CN PSC NNN 57	822.16	822.16
			Tag(s): 3RD FLOOR D.06		
398	1	FTS10.2484L S	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 84W, No Brkts  LBU LBU	130.29	130.29
			Tag(s): 3RD FLOOR D.06		
399	1	FTS10.3684L S	@Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 36D 84W, No Brkts  LBU LBU	178.27	178.27
			Tag(s): 3RD FLOOR D.06		
400	2	FV2E2.S24FL	+Closed Support Leg,for Sq-Edge Surface, 24"D,Fxd Hght, Lam  LBU	72.58	145.16
			Tag(s): 3RD FLOOR D.06		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
401	2	FV2E2.S36FL	+Closed Support Leg,for Sq-Edge Surface, 36"D,Fxd Hght, Lam LBU +medium matte walnut Tag(s): 3RD FLOOR D.06	75.10	150.20
402	3	FV696.67	+Stiffener, 66 3/4W Tag(s): 3RD FLOOR D.06	18.14	54.42
403	1	FV697.84FL	+Modesty Panel,full modesty panel, 84W Lam 91 +white Tag(s): 3RD FLOOR D.06	178.67	178.67
404	1	FV697.84HL	+Modesty Panel,half modesty panel, 84W Lam 91 +white Tag(s): 3RD FLOOR D.06	110.38	110.38
405	2	FV43H.WM154 2LWTL	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 42W KA LBU LBU @keyed alike @medium matte walnut @medium matte walnut Tag(s): 3RD FLOOR D.06	332.64	665.28
406	2	G6160.BB	+Twist LED Task Light,Starter unit,Brkt Att  Tag(s): 3RD FLOOR D.06	137.03	274.06

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
407	2	G6160.CB	+Twist LED Task Light,Add-on unit,Brkt Att  Tag(s): 3RD FLOOR D.06	98.51	197.02
408	2	FV980.WM234 2R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 42W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 3RD FLOOR D.06	96.77	193.54
409	1	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 3RD FLOOR D.06	36.54	36.54
410	1	FF56M.73622 XRLTL	@Wood Vert Tower w/Part Enclsr,2-1/4H Base,Open L/Wrdrb R,Lam Case/Door,Lam Base,Fin Top,Lock,68H 36W 20D  LBU LBU KA  Tag(s): 3RD FLOOR D.06	576.32	576.32
411	1	LK10D.24BBF	+Ped Bar Pull,Freestd,Ptd Mtl Frnt, 24D B/B/F  SB XS 91 KA CN 2F  +full-extension ball-bearing +textured paint on smooth steel +white +keyed alike +metallic champagne +raised height CONTINUED...	193.09	193.09

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
412	1	LK20D.361	NN +none Tag(s): 3RD FLOOR D.06  XS +textured paint on smooth steel 91 +white KA +keyed alike CN +metallic champagne NO +no counterweight (must gang or anchor) 2R +side-to-side filing rail Tag(s): 3RD FLOOR D.06	342.84	342.84
413	2	Y91171.CM	0I +Flo Single-Screen Monitor Arm Support,Surf Clamp +silver Tag(s): 3RD FLOOR D.06	146.68	293.36
414	2	Y7737.1A	0H +LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 3RD FLOOR D.06	156.56	313.12
415	5	1B2JK7-	260 +Lock Plug and Key,Chrome UM Series Tag(s): 3RD FLOOR D.06	2.62	13.10
416	5	1B2JK7-	261 +Lock Plug and Key,Chrome UM Series Tag(s): 3RD FLOOR D.06	2.62	13.10

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
417	1	5-7236FLPDR	Impulse G2 72x36 Recess Modesty Left Full Pedestal Desk	1,130.80	1,130.80
	2	B4Z BUW DN X9 Era MSL FS FS G2 H2X	Quartered Burnished Square - 1.1875" None Era Luster Grey Full Panel (standard) Full Panel, No Insert Grommet Right Locking, Key Specific (must include lock core orde Tag(s): 3RD FLOOR D.11		
418	1	5-2242HABR2	Impulse G2 22x42 Ht. Adj. Bridge	1,309.60	1,309.60
	-2	B4Z BUW DN H3V LK	Quartered Burnished Square - 1.1875" Unfinished Back with Wall Access Silver Grommet Tag(s): 3RD FLOOR D.11		
419	1	5-7222CRRL2	Impulse G2 72x22 Right Lateral File Pedestal Credenza	1,001.20	1,001.20
		B4Z BUW DN Era MSL LW G3 H2X	Quartered Burnished Square - 1.1875" Era Luster Grey Unfinished Back Grommet Center Locking, Key Specific (must include lock core orde CONTINUED...		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
420	1	5-3621MDC2	Impulse G2 36x20.75 Door Pedestal  B4Z BUW Era MSL H2X  Tag(s): 3RD FLOOR D.11	628.80	628.80
421	1	5-3621MFC2	Impulse G2 36x20.75 Lateral File Pedestal  B4Z BUW Era MSL H2X  Tag(s): 3RD FLOOR D.11	670.00	670.00
422	1	5-7222MCT2	Impulse G2 72x22 Modular Cabinet Top  B4Z BUW DN G1 G1  Tag(s): 3RD FLOOR D.11	310.40	310.40
423	1	5-7243HD4-2	Impulse G2 72x15x42.5 4-Door Highback Organizer  B4Z  Quartered CONTINUED...	1,400.40	1,400.40

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			BUW HC HC LW A8C W4 1 OFSV 3078431	Burnished Wood Panel Wood Panel/No Insert Unfinished Back With Paper Management Tackboard/White Markerboard/Tackboard Grade 1 Fabric OFS Vitality Grounded Tag(s): 3RD FLOOR D.11	
424	1	Y91180.152G R  0I	@Flo Modular Monitor Arm Assembly,15-3/4H Post,2 Arms,Grommet Mount @silver Tag(s): 3RD FLOOR D.11	368.60	368.60
425	1	Y7737.1A  0H	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 3RD FLOOR D.11	156.56	156.56
426	1	FT110.4224N  CN	+Frame,Base Covers, no knockouts 42H 24W +metallic champagne Tag(s): 3RD FLOOR D.12	49.24	49.24
427	1	FT110.4230N  CN	+Frame,Base Covers, no knockouts 42H 30W +metallic champagne Tag(s): 3RD FLOOR D.12	51.76	51.76

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
428	2	FT110.4236X	+Frame, No Base Covers 42H 36W  Tag(s): 3RD FLOOR D.12	43.18	86.36
429	2	FT110.4242J	+Frame, Base Covers, Pwr/Data knockouts 42H 42W  +metallic champagne Tag(s): 3RD FLOOR D.12	61.61	123.22
430	2	FT110.4242X	+Frame, No Base Covers 42H 42W  Tag(s): 3RD FLOOR D.12	44.44	88.88
431	1	FT110.6824X	+Frame, No Base Covers 68H 24W  Tag(s): 3RD FLOOR D.12	49.74	49.74
432	2	FT110.6836J	+Frame, Base Covers, Pwr/Data knockouts 68H 36W  +metallic champagne Tag(s): 3RD FLOOR D.12	66.66	133.32
433	2	FT110.6842J	+Frame, Base Covers, Pwr/Data knockouts 68H 42W  +metallic champagne Tag(s): 3RD FLOOR D.12	69.94	139.88
434	2	FT112.24AP	+Frame Top Cap, Standard Ptd 24W  +metallic champagne Tag(s): 3RD FLOOR D.12	7.58	15.16

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:				TERMS:	
			CLEARWATER GAS HQ	UPON RECEIPT	
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
435	1	FT112.30AP	+Frame Top Cap,Standard Ptd 30W  CN +metallic champagne Tag(s): 3RD FLOOR D.12	8.33	8.33
436	2	FT112.36AP	+Frame Top Cap,Standard Ptd 36W  CN +metallic champagne Tag(s): 3RD FLOOR D.12	9.34	18.68
437	4	FT112.42AP	+Frame Top Cap,Standard Ptd 42W  CN +metallic champagne Tag(s): 3RD FLOOR D.12	10.35	41.40
438	1	FT115.4230L	@Gallery Panel, Lam/TP Edge, Left Attachment 42H 30W  L LBD LBD @dark brown walnut @dark brown walnut Tag(s): 3RD FLOOR D.12	146.20	146.20
439	2	FT121.246	+Conn 90,Universal,2way,90 deg-for 46H frames and lower  Tag(s): 3RD FLOOR D.12	15.66	31.32
440	1	FT121.257	+Conn 90,Universal,2way,90 deg-for 53H frames and higher  Tag(s): 3RD FLOOR D.12	24.49	24.49
441	2	FT123.242BP	+Conn Cover 90-Deg, 2 Sides Covered,Base Cover Ptd 42H  CN +metallic champagne CONTINUED...	14.14	28.28

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
442	1	FT123.268BP	Tag(s): 3RD FLOOR D.12  +Conn Cover 90-Deg, 2 Sides Covered,Base Cover Ptd 68H +metallic champagne Tag(s): 3RD FLOOR D.12	17.42	17.42
443	1	FT123.326NP	Tag(s): 3RD FLOOR D.12  +Conn Cover 90-Deg, 3 Sides Covered,No Base Ptd 26H (for use w/42H and 53H frames) +metallic champagne Tag(s): 3RD FLOOR D.12	19.19	19.19
444	1	FT126.1AP	Tag(s): 3RD FLOOR D.12  +Top Cap, Conn 90-Deg, Connects-1 Frame Top Caps Ptd +metallic champagne Tag(s): 3RD FLOOR D.12	8.08	8.08
445	2	FT126.2AP	Tag(s): 3RD FLOOR D.12  +Top Cap, Conn 90-Deg, Connects-2 Frame Top Caps, 90-Deg Ptd +metallic champagne Tag(s): 3RD FLOOR D.12	8.08	16.16
446	6	FT128.42	Tag(s): 3RD FLOOR D.12  +Connection Hardware, Frame-to-Frame 42H	6.31	37.86
447	3	FT128.68	Tag(s): 3RD FLOOR D.12  +Connection Hardware, Frame-to-Frame 68H  CONTINUED...	8.59	25.77

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
448	1	FT140.06 LZ	Tag(s): 3RD FLOOR D.12  +Power Entry, External Direct Connect 6'long +PVC-free Tag(s): 3RD FLOOR D.12	45.45	45.45
449	1	FT150.24 LZ	+Base Power Harness 24W +PVC-free Tag(s): 3RD FLOOR D.12	32.83	32.83
450	1	FT150.30 LZ	+Base Power Harness 30W +PVC-free Tag(s): 3RD FLOOR D.12	34.09	34.09
451	3	FT150.36 LZ	+Base Power Harness 36W +PVC-free Tag(s): 3RD FLOOR D.12	35.35	106.05
452	3	FT150.42 LZ	+Base Power Harness 42W +PVC-free Tag(s): 3RD FLOOR D.12	37.12	111.36
453	3	FT156.AT WN	+20 Amp Receptacle 4 Circuit, Circuit A +warm grey neutral Tag(s): 3RD FLOOR D.12	12.12	36.36
454	3	FT156M.AT WN	@Controlled Receptacle, 4 Circuit, 20 Amp, Circuit A @warm grey neutral Tag(s): 3RD FLOOR D.12	12.12	36.36

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
455	1	FT160.68BP	+Finished End,Base Cover Ptd 68H  CN +metallic champagne Tag(s): 3RD FLOOR D.12	17.93	17.93
456	2	FT170.3036T	+Lower Tile, Tackable Fabric 30H 36W  CN 21 02 +metallic champagne +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 3RD FLOOR D.12	39.90	79.80
457	2	FT175.1136M	+Rail Tile,Middle 11H 36W +metallic champagne +metallic champagne Tag(s): 3RD FLOOR D.12	47.22	94.44
458	1	FT180.3724T	+Tile,Full-Height,Tackable Fabric 37H 24W  CN 21 02 +metallic champagne +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 3RD FLOOR D.12	35.35	35.35
459	1	FT180.3724W	@Tile,Full-Height,Vnr 37H 24W 40 CN +dark brown walnut +metallic champagne Tag(s): 3RD FLOOR D.12	153.77	153.77
460	1	FT180.3730T	+Tile,Full-Height,Tackable Fabric 37H 30W  CN 21 02 +metallic champagne +grasscloth-Pr Cat 1 +grasscloth pampas CONTINUED...	37.37	37.37

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
461	1	FT180.3730W 40 CN	Tag(s): 3RD FLOOR D.12  @Tile,Full-Height,Vnr 37H 330W +dark brown walnut +metallic champagne Tag(s): 3RD FLOOR D.12	175.49	175.49
462	2	FT180.3736W 40 CN	Tag(s): 3RD FLOOR D.12  @Tile,Full-Height,Vnr 37H 36W +dark brown walnut +metallic champagne Tag(s): 3RD FLOOR D.12	197.46	394.92
463	2	FT180.3742T  CN 21 02	Tag(s): 3RD FLOOR D.12  +Tile,Full-Height,Tackable Fabric 37H 42W +metallic champagne +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 3RD FLOOR D.12	48.99	97.98
464	4	FT180.3742W 40 CN	Tag(s): 3RD FLOOR D.12  @Tile,Full-Height,Vnr 37H 42W +dark brown walnut +metallic champagne Tag(s): 3RD FLOOR D.12	216.39	865.56
465	2	FT180.6336T  CN 21 02	Tag(s): 3RD FLOOR D.12  +Tile,Full-Height,Tackable Fabric 63H 36W +metallic champagne +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 3RD FLOOR D.12	66.41	132.82

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
466	4	FT180.6342T	+Tile,Full-Height,Tackable Fabric 63H 42W  CN 2I 02 Tag(s): 3RD FLOOR D.12	71.21	284.84
467	2	FT181.2224W	@Upper Tile, Vnr 22H 24W  40 CN Tag(s): 3RD FLOOR D.12	103.53	207.06
468	2	FT181.2236T	+Upper Tile, Tackable Fabric 22H 36W  CN 2I 02 Tag(s): 3RD FLOOR D.12	30.81	61.62
469	1	FT280.72LP	+Trans Surf, Sq-Edge Lam Top/Thermo Edge Surf, Ptd Stndrd Top Cap 72W  LBD LBD CN CN JL Tag(s): 3RD FLOOR D.12	264.37	264.37
470	1	FT280.84LP	+Trans Surf, Sq-Edge Lam Top/Thermo Edge Surf, Ptd Stndrd Top Cap 84W  LBD LBD CONTINUED...	274.22	274.22

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
471	2	FT290.24L	CN +metallic champagne CN +metallic champagne JL +stacking on 42"-high base frame Tag(s): 3RD FLOOR D.12	8.84	17.68
472	2	FT290.24R	CN +Surface Cantilever, for 20"-or 24" deep surface,lft-hnd +metallic champagne Tag(s): 3RD FLOOR D.12	8.84	17.68
473	2	FT290.30L	CN +Surface Cantilever, for 30"-deep surface,lft-hnd +metallic champagne Tag(s): 3RD FLOOR D.12	10.35	20.70
474	2	FT290.30R	CN +Surface Cantilever, for 30"-deep surface,rt-hnd +metallic champagne Tag(s): 3RD FLOOR D.12	10.35	20.70
475	2	FT385.4236W	CN @Tile,To-The-Floor Full-Height,Veneer 42H 36W 40 +dark brown walnut +metallic champagne Tag(s): 3RD FLOOR D.12	202.00	404.00

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
476	2	FT385.4242W	@Tile,To-The-Floor Full-Height,Veneer 42H 42W 40 CN +dark brown walnut +metallic champagne Tag(s): 3RD FLOOR D.12	223.21	446.42
477	2	FT385.4624W	@Tile,To-The-Floor Full-Height,Veneer 46H 24W 40 CN +dark brown walnut +metallic champagne Tag(s): 3RD FLOOR D.12	161.85	323.70
478	2	FT963.36JTF	+Single-Sided Base Cover Kit,pwr/data knockouts,Attachmnt To-The-Floor Tiles on 1 Side 36W CN +metallic champagne Tag(s): 3RD FLOOR D.12	11.62	23.24
479	1	FT963.42JTF	+Single-Sided Base Cover Kit,pwr/data knockouts,Attachmnt To-The-Floor Tiles on 1 Side 42W CN +metallic champagne Tag(s): 3RD FLOOR D.12	12.63	12.63
480	1	FT963.42NTF	+Single-Sided Base Cover Kit,no knockouts,Attachmnt To-The-Floor Tiles on 1 Side 42W CN +metallic champagne Tag(s): 3RD FLOOR D.12	12.63	12.63

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765
PROPOSAL DESCRIPTION:			TERMS:
CLEARWATER GAS HQ			UPON RECEIPT
LINE	QTY	PRODUCT	DESCRIPTION
481	1	FTS10.2472LF	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 72W, Frame Atch  LBD LBD Tag(s): 3RD FLOOR D.12
482	1	FTS10.2484LF	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 84W, Frame Atch  LBD LBD Tag(s): 3RD FLOOR D.12
483	1	FTS10.3072LF	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 72W, Frame Atch  LBD LBD Tag(s): 3RD FLOOR D.12
484	1	FTS10.3084LF	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 84W, Frame Atch  LBD LBD Tag(s): 3RD FLOOR D.12
485	2	FV43H.F8153 6LWTL  KA LBD	@Ovhd Stg Cab, Hinged Doors, Canvas Frm Connect, Lam Case/Doors, Finished Case Top, Lock, 15H 36W  @keyed alike @dark brown walnut CONTINUED...

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
486	2	LBD	@dark brown walnut Tag(s): 3RD FLOOR D.12		
		FV43H.F8154 2LWTL	@Ovhd Stg Cab, Hinged Doors, Canvas Frm Connect, Lam Case/Doors, Finished Case Top, Lock, 15H 42W  KA LBD LBD Tag(s): 3RD FLOOR D.12	307.44	614.88
487	2	KA LBD LBD Tag(s): 3RD FLOOR D.12	@keyed alike @dark brown walnut @dark brown walnut Tag(s): 3RD FLOOR D.12	349.52	699.04
488	2	L2EW.30241F FLK	@Lam Ext Width Surf-Att Pedestal, Base, File/File, Lam Case/Front, Bar Pull 30W 24D  M LBD MS CB KA Tag(s): 3RD FLOOR D.12	368.28	736.56
		M LBD MS CB KA Tag(s): 3RD FLOOR D.12	+metal +dark brown walnut @metallic silver +counterweight +keyed alike Tag(s): 3RD FLOOR D.12		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
489	1	L2PS.15241B BFLK	@Surf-Att Pedestal, Base, Box/Box/File, Lam Case/Front, Bar Pull 15W 24D  M LBD MS CB KA  +metal +dark brown walnut @metallic silver +counterweight +keyed alike  Tag(s): 3RD FLOOR D.12	323.82	323.82
490	2	Y1423.EA06	@Logic C1000 Univ Clamp Mount Dist,3 Simplex Recep,Pwr Cord w/Plug End,6' Cord/Conduit  MS  @metallic silver  Tag(s): 3RD FLOOR D.12	120.84	241.68
491	6	Y7216.10 WN	+Paper Tray 10W +warm grey neutral  Tag(s): 3RD FLOOR D.12	13.30	79.80
492	2	Y7218. WN	+Diagonal Tray +warm grey neutral  Tag(s): 3RD FLOOR D.12	21.66	43.32
493	1	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray  0H  +black  Tag(s): 3RD FLOOR D.12	156.56	156.56
494	2	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp +silver  0I  Tag(s): 3RD FLOOR D.12	146.68	293.36

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
PROPOSAL DESCRIPTION:				TERMS:	
CLEARWATER GAS HQ			UPON RECEIPT		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
495	1	4-1621MBFC	Pulse 15.625x20.75 Modular Box/Box/File Pedestal  ~TFL-W BU2 Era MSL H2X  TFL Wood Grain Burnished Era Luster Grey Locking - key specific (include lock core order fo Tag(s): 3RD FLOOR D.13	335.20	335.20
496	1	4-2812SP	Pulse 12d x 28.8125h Support Panel  ~TFL-W BU2  TFL Wood Grain Burnished Tag(s): 3RD FLOOR D.13	76.80	76.80
497	1	4-2922MEP	Pulse 21x1x28.8125 Modular End Panel  ~TFL-W BU2  TFL Wood Grain Burnished Tag(s): 3RD FLOOR D.13	112.00	112.00
498	1	4-3021MDC	Pulse 30x20.75 Modular Door Cabinet  ~TFL-W BU2 Era BWT NM  TFL Wood Grain Burnished Era Bone White Locking - standard key Tag(s): 3RD FLOOR D.13	336.40	336.40
499	1	4-3021MFC	Pulse 30x20.75 Modular Lateral File Pedestal  ~TFL-W BU2  TFL Wood Grain Burnished CONTINUED...	405.60	405.60

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED	
			Era BWT NM	Era Bone White Locking - standard key Tag(s): 3RD FLOOR D.13		
500	1	4-3021MOC	~TFL-W BU2	Pulse 30x20x28.8125 Modular Open Pedestal TFL Wood Grain Burnished Tag(s): 3RD FLOOR D.13	304.80	304.80
501	1	4-4822MCT	~TFL-W BU2 EY G3 LK	Pulse 48x22 Modular Cabinet Top, Long Grain TFL Wood Grain Burnished Square Grommet Center Satin Nickel Tag(s): 3RD FLOOR D.13	170.00	170.00
502	1	4-6022MCT	~TFL-W BU2 EY G1 G1	Pulse 60x22 Modular Cabinet Top, Long Grain TFL Wood Grain Burnished Square No Grommet No Grommet Tag(s): 3RD FLOOR D.13	174.00	174.00
503	1	4-7216LSW	~TFL-W BU2	Pulse 15.625x72.5 Square-edge Left-hinge Storage Wardrobe TFL Wood Grain Burnished CONTINUED...	594.40	594.40

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
504	1	4-7230SCL	Era BWT  ~TFL-W BU2 Era BWT NM  Pulse 30x72.5 Square-edge Storage Cabinet with Lateral File  Tag(s): 3RD FLOOR D.13	992.40	992.40
505	1	4-7236HASHE L-2	Era BWT  ~TFL-W BU2 EY X9 G2 LK  Pulse, 72W x 36D x 30H, Height Adjustable Desk Shell, Electronic height adjustable from 30" to 46"  Tag(s): 3RD FLOOR D.13	1,660.00	1,660.00
506	1	4-8422MCT	Era BWT  ~TFL-W BU2 EY G4 LK  Pulse 84x22 Modular Cabinet Top, Long Grain  Tag(s): 3RD FLOOR D.13	223.60	223.60
CONTINUED...					

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:		INSTALL AT:			
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900		CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765			
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
507	1	Y91180.152G R  0I	Tag(s): 3RD FLOOR D.13  @Flo Modular Monitor Arm Assembly,15-3/4H Post,2 Arms,Grommet Mount @silver Tag(s): 3RD FLOOR D.13	368.60	368.60
508	1	Y7737.1A  0H	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black Tag(s): 3RD FLOOR D.13	156.56	156.56
509	1	5-2472RSCW  B4Z BUW Era MSL LW NM	Impulse G2 24x72.5 Strg Rt Hinge Door-File/File-Wardrobe Quartered Burnished Era Luster Grey Unfinished Back Locking, Standard Key Tag(s): 3RD FLOOR D.14	1,535.20	1,535.20
510	1	5-2922TEP  B4Z BUW	Impulse G2 22"w Full End Panel for 22"d Top Quartered Burnished Tag(s): 3RD FLOOR D.14	151.60	151.60

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
511	1	5-3021MFC2	Impulse G2 30x20.75 Lateral File Pedestal  B4Z BUW Era MSL NM  Quartered Burnished Era Luster Grey Locking, Standard Key Tag(s): 3RD FLOOR D.14	586.80	586.80
512	1	5-3021MOC	Impulse G2 30x20.75 Open Pedestal  B4Z BUW  Quartered Burnished Tag(s): 3RD FLOOR D.14	352.00	352.00
513	6	5-3621MOC	Impulse G2 36x20.75 Open Pedestal  B4Z BUW  Quartered Burnished Tag(s): 3RD FLOOR D.14	401.20	2,407.20
514	1	5-6019HDW4-2	Impulse G2 60x18.5 4-Door Wallmount Organizer  B4Z BUW HC HC  Quartered Burnished Wood Panel Wood Panel/No Insert Tag(s): 3RD FLOOR D.14	820.40	820.40
515	1	5-6022MCT2	Impulse G2 60x22 Modular Cabinet Top  B4Z BUW DN  Quartered Burnished Square - 1.1875" CONTINUED...	296.40	296.40

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
516	1	5-7236HALPD R2-2	G4 LK  B4Z BUW DN X9 X9 Era MSL G2 H2X  Impulse G2 72x36 Ht. Adj. Recessed Mod. Left Pedestal Desk  Quartered Burnished Square - 1.1875" No Modesty None Era Luster Grey Grommet Right Locking, Key Specific (must include lock core orde Tag(s): 3RD FLOOR D.14	2,531.20	2,531.20
517	1	5-7822MCT2	B4Z BUW DN G1 G1  Impulse G2 78x22 Modular Cabinet Top  Quartered Burnished Square - 1.1875" No Grommet No Grommet  Tag(s): 3RD FLOOR D.14	346.00	346.00
518	2	5-8422MCT2	B4Z BUW DN G1  Impulse G2 84x22 Modular Cabinet Top  Quartered Burnished Square - 1.1875" No Grommet  CONTINUED...	364.80	729.60

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
519	1	FT2071 3 MAMN 3065548	G1  No Grommet Tag(s): 3RD FLOOR D.14  Impulse G2 60x23.75 Tackboard Grade 3 Fabric Maharam Manner Hush 005  Tag(s): 3RD FLOOR D.14	189.60	189.60
520	1	Y91180.152G R  0I	@Flo Modular Monitor Arm Assembly,15-3/4H Post,2 Arms,Grommet Mount @silver  Tag(s): 3RD FLOOR D.14	368.60	368.60
521	1	Y7737.1A  0H	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black  Tag(s): 3RD FLOOR D.14	156.56	156.56
522	4	DU6ACS.3060 LE  NNP SUD 91 91 CN PSC NNN 57	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 60W  @no power access @simple up down @white @white @metallic champagne leg with metallic champagne fo @simple cable @no cutout @glides  Tag(s): 3RD FLOOR D.16	822.16	3,288.64

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
523	4	LG890.120 1HA 01	+Pedestal Add-On Cushion Top 1H 20D +medley-Pr Cat 2 +medley stone Tag(s): 3RD FLOOR D.16	45.06	180.24
524	4	LW110.20BF SB SS CN KD NN H1	+Ped W-Pull,Mobile 20D B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed differently, black +none +hand grip only Tag(s): 3RD FLOOR D.16	155.37	621.48
525	2	FTS10.2460L S 91 91	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 60W, No Brkts +white +white Tag(s): 3RD FLOOR D.17	83.33	166.66
526	1	FV2A2.24FL CN	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 24D +metallic champagne Tag(s): 3RD FLOOR D.17	109.87	109.87
527	1	FV2A2.24FR CN	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 24D +metallic champagne Tag(s): 3RD FLOOR D.17	109.87	109.87

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
528	1	FV2A2.2AFS CN	+Open Support Leg,Archtrl Foot,Fxd Hght, 12D Shared +metallic champagne Tag(s): 3RD FLOOR D.17	66.78	66.78
529	1	FT29B.1	+Surface Ganging Bracket,single  Tag(s): 3RD FLOOR D.17	5.81	5.81
530	2	FV696.43	+Stiffener, 43 1/4W  Tag(s): 3RD FLOOR D.17	18.14	36.28
531	2	FV43C.WM156 0LWT 91	@Ovhd Stg Cab, Open, Wall Mount, Lam Case, Finished Case Top, 15H 60W @white Tag(s): 3RD FLOOR D.17	285.26	570.52
532	4	DU6ACS.3048 LE NNP SUD 91 91 CN PSC NNN 57	@Renew Rect Tbl, C-Foot,Sq-Edge,Lam Top/Thermo Edge,Elec Std Range, 30D 48W  @no power access @simple up down @white @white @metallic champagne leg with metallic champagne fo @simple cable @no cutout @glides Tag(s): 3RD FLOOR D.18	805.39	3,221.56

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
533	4	FTS10.3084LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 84W, No Brkts 91 91 Tag(s): 3RD FLOOR D.18	161.35	645.40
534	1	FV2A2.30FLCN	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 30D +metallic champagne Tag(s): 3RD FLOOR D.18	115.42	115.42
535	1	FV2A2.30FRCN	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 30D +metallic champagne Tag(s): 3RD FLOOR D.18	115.42	115.42
536	4	FV689.PCN	+Support Leg,Post +metallic champagne Tag(s): 3RD FLOOR D.18	40.32	161.28
537	4	FV696.62	+Stiffener, 62 1/8W  Tag(s): 3RD FLOOR D.18	18.14	72.56
538	4	FV43H.WM1536LWTLKA	@Ovhd Stg Cab, Hinged Doors, Wall Mount, Lam Case/Doors, Finished Case Top, Lock, 15H 36W @keyed alike @white @white Tag(s): 3RD FLOOR D.18	318.78	1,275.12

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
539	4	G6160.AB	+Twist LED Task Light,Single unit,Brkt Att  Tag(s): 3RD FLOOR D.18	113.71	454.84
540	4	FV980.WM233 6R 2I 02	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 23H 36W +grasscloth-Pr Cat 1 +grasscloth pampas Tag(s): 3RD FLOOR D.18	87.70	350.80
541	2	FV985.21	@Tackboard Cable Manager, for use with 23" and 24" high, Pkg of 12  Tag(s): 3RD FLOOR D.18	36.54	73.08
542	4	LW100.24BBF SB SS CN KA 2F NN	+Ped W-Pull,Freestd 24D B/B/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +raised height +none Tag(s): 3RD FLOOR D.18	162.70	650.80
543	4	LW140.28FF SB SS CN KA 2F NN	+Ped W-Pull, Surface Att 28D,F/F +full-extension ball-bearing +smooth paint on smooth steel +metallic champagne +keyed alike +27 1/4" high (raised height) +none CONTINUED...	149.86	599.44

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
544	8	Y91171.CM	Tag(s): 3RD FLOOR D.18  +Flo Single-Screen Monitor Arm Support,Surf Clamp +silver	146.68	1,173.44
		0I	Tag(s): 3RD FLOOR D.18		
545	4	Y7737.1A	+LS Series Keyboard Solutions, 17 Inch Track, 20" HDPE Tray w/Adj Mouse Tray +black	156.56	626.24
		0H	Tag(s): 3RD FLOOR D.18		
546	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series	2.62	7.86
		262	+key number 262 Tag(s): 3RD FLOOR D.18		
547	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series	2.62	7.86
		263	+key number 263 Tag(s): 3RD FLOOR D.18		
548	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series	2.62	7.86
		264	+key number 264 Tag(s): 3RD FLOOR D.18		
549	3	1B2JK7-	+Lock Plug and Key,Chrome UM Series	2.62	7.86
		265	+key number 265 Tag(s): 3RD FLOOR D.18		

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
[WWW.WORKSCAPES.COM](http://WWW.WORKSCAPES.COM)

## PROPOSAL

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscape

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

workscapes

Proposal for:			INSTALL AT:		
CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765 PH# 727-562-4900			CLEARWATER GAS SYSTEMS 711 MAPLE STREET  CLEARWATER, FL 33765		
LINE	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
556	4	MGA70.S YBP	@Air-Table,Square @white Tag(s): 3RD FLOOR TB.09	252.00	1,008.00
557	1	DT1AS.3672L P	+Everywhere Rectangular Table,Squared Edge,Lam Top/Thermo Edge,Post Leg 36D 72W  91 91 BK 57 NTG  Tag(s): 3RD FLOOR TB.11	298.68	298.68
558	2	OA30B.16WP  OU BK	@Swoop Coffee Table,Vnr,Exposed Plywood Edge 16" dia @walnut +black Tag(s): 3RD FLOOR TB.12	165.85	331.70
559	1	EN-4848RTB  PAL	Eleven Metal Base for 48" Round Top Polished Aluminum Tag(s): 3RD FLOOR TB.13	732.40	732.40
560	1	EN-T4848RT BU2 BU2 QR	Eleven 48x48x1 TFL Round Top Burnished Burnished No Cutout Tag(s): 3RD FLOOR TB.13	365.20	365.20

By engaging in business with Workscapes, you agree to the company terms and conditions.



501 E KENNEDY BLVD. #100  
TAMPA, FL 33602  
PH: 877-967-5722  
WWW.WORKSCAPES.COM

**PROPOSAL**

DATE: 05/31/19  
PROPOSAL: 41968  
CUST PO:  
SALESREP: Alicia Ferraro

**workscapes**

<b>Proposal for:</b>			<b>INSTALL AT:</b>
			<b>TERMS:</b>
CLEARWATER GAS HQ			UPON RECEIPT
LINE	QTY	PRODUCT	DESCRIPTION
561	1	EN-7242RTB PAL	Eleven Metal Base for 72x42 & 73x43 Tops Polished Aluminum Tag(s): 3RD FLOOR TB.14
562	1	EN-G7242RT B6M	Eleven 73x43x1.375 Glass Rectangular Top Clear Glass with White Back Paint Tag(s): 3RD FLOOR TB.14
563	1	LABOR	RECEIVE, DELIVER & INSTALLATION OF SPECIFIED PRODUCT DURING NORMAL BUSINESS HOURS * CLIENT: Clearwater Gas * SCOPE: Receive, Deliver and Install Specified product during normal business hours * Tag(s): XX-LABOR XX-LABOR
<b>MONTHLY PAYMENTS AS LOW AS</b>			<b>SUBTOTAL \$393,775.00</b>
\$7,698.30 for 60 months \$9,525.42 for 48 months \$12,329.09 for 36 months Above, you will find an estimated monthly payment amount for this proposal based on a 60, 48 and 36 month, \$1 Purchase Option Lease. The proposed financing is SUBJECT TO CREDIT APPROVAL by LEAF Commercial Capital, Inc. or its affiliates. This monthly payment does not include sales tax and is subject to change.			<b>DEPOSIT REQUIRED 196,887.00</b>
 Financing Available!			<b>ACCEPTED BY _____</b>
<b>DATE ACCEPTED _____</b>			<b>TOTAL \$393,775.00</b>
By engaging in business with Workscapes, you agree to the company terms and conditions.			



## TERMS AND CONDITIONS OF SALE, DELIVERY & INSTALLATION

DATE: 05/31/19  
PROPOSAL: 41968  
TOTAL \$393,775.00

### workscapes

The following are standard requirements of Seller for its Sale, Delivery and Installation Contracts. Seller accepts Buyer's orders on the condition that Buyer assents to the terms and conditions set forth below. The requirements set forth in **BOLD** are considered non-negotiable and will be part of any final contractual agreement between Buyer and Seller. Buyer should identify any of the other standard contract requirements to which it cannot agree in a written response which must be made prior to the actual schedule of production of said custom ordered product. No one other than the VP of Finance has the authority to alter the non-negotiable terms and conditions set forth below in **BOLD**. To the extent that Buyer directs Seller to move forward to process the custom ordered product, Buyer shall be deemed to have accepted the remaining terms and conditions below unless a separate written document signed by both the Seller and Buyer replaces the Terms and Conditions of Sale, Deliver and Installation.

**1. Please note that you are ordering custom product. PLEASE MAKE YOUR SELECTION CAREFULLY FOR FURNITURE IS MADE TO ORDER AND CANNOT BE RETURNED OR EXCHANGED.** Once orders are processed by the manufacturer they cannot be cancelled, and thus deposits paid for such product are non-refundable to the customer.

2. Seller shall not be required to proceed with performance of Buyer's order while Buyer is in default under this or any other contract with Seller.

**3. No salesperson, agent, or employee of Seller has authority to make any representation, promise of agreement, inconsistent with the provisions hereof.** These terms and conditions constitute the entire contract between the Buyer and Seller.

4. A sales tax exemption certificate will need to be supplied by the buyer in order to have sales tax removed from the total sales price. Buyer shall reimburse Seller for any excise, sales, or use taxes incident to this transaction for which Seller may be liable or which seller is required by law to collect.

5. A 50% DEPOSIT OF THE TOTAL ORDER WILL BE REQUIRED AT TIME OF PURCHASE WHICH SUM SHALL BE CREDITED TOWARD THE TOTAL PURCHASE PRICE. BALANCE OF 50% TO BE INVOICED UPON SHIPMENT, DUE IN 15 DAYS. 5% CAN BE RETAINED UNTIL ALL ITEMS ARE INSTALLED.

6. IF PAYMENT IS MADE TO SELLER VIA CREDIT CARD, BUYER SHALL BE REQUIRED TO PAY 100% UPON PLACING ORDER. (Not to exceed \$15,000.00).

7. If Buyer accepts partial delivery and installation, that portion of contract delivered shall be due and payable under contract terms.

**CONTRACTS WILL BE INVOICED AT SUBSTANTIAL COMPLETION AND REMAINDER OF INVOICE (LESS ANY PAID DEPOSITS) WILL BE DUE AND PAYABLE UNDER CONTRACT TERMS.**

**8. A 100% PAYMENT SHALL BE REQUIRED ON ALL PRODUCT ORDERS UNDER \$5,000.00 AND ORDERS TO BE DROP SHIPPED**

9. Labor and service invoices are due upon receipt Delivery & Installation terms and conditions attached.

10. It is understood that and agreed that the above merchandise remains the property of Workscapes, Inc. until paid for in full. Also, purchaser agrees to pay 1 1/2 % per month interest (18% annual rate) on delinquent accounts and to pay all collection costs and reasonable attorney fees if suit is instituted.

11. DELAYS AND RETURNS: Please note that **it is the responsibility of the customer to advise Workscapes of any unexpected delays.** Workscapes will do their best to delay shipments from our manufacturers, however, please note that most products are made to order and orders may not be delayed. **Workscapes can store products in our warehouse in which case storage charges will apply.** It is understood and agreed that any customer owned product returned to Workscapes Inc. warehouse after installation will be charged storage at a rate of up to \$2.50 per square foot per month (or .08 a day) . It will be the sole responsibility of the customer to notify Workscapes, Inc. in writing to dispose of any unwanted product, otherwise, storage charges will be due and payable per terms as outlined above.

It is also understood that under certain circumstances Workscapes has a lien against the bailor on the goods covered by a warehouse receipt or on the proceeds thereof in Workscapes possession for

charges for storage. Such circumstances include those whereby delivery of the warehoused goods is held due to delays not caused by Workscapes, Inc. These delays could include any of the following, but are not limited to: those originating with the Buyer, the Buyer's general contractors, and subcontractors, state, local and/or federal government agencies, including permitting agencies. In such circumstances, **Workscapes will charge the Buyer a storage fee for such furniture at a rate of up to \$2.50 per square foot per month (or .08 a day), and reserves the right to hold furniture under such lien until all storage fees have been paid in full.**

12. Workscapes, Inc. will use information provided by established commercial credit agencies to determine open account status and amount of credit offered.

### DELIVERY AND INSTALLATION

**1. Labor and service invoices are due upon receipt.**

2. Labor cost is based upon direct shipment of product to site, unless otherwise noted.

**3. In the event that a shipment must be diverted from site to a warehousing facility, double handling fees shall apply. In addition, storage will be billed to the client at a rate of up to \$2.50 per square foot per month (or .08 a day). Product will not be released for installation unless the storage and double handling fee invoices are paid in full.**

4. Labor is to be non-union and all work is to be completed during normal business hours

5. Installation site is to have ceiling tile, wall finishes, carpet and baseboard complete prior to installation

6. Permanent overhead lighting must be in place and operable prior to installation

7. Air conditioning or fan ventilation must be provided by client/general contractor during the course of the installation

8. If installation is to take place on the 2nd floor or above, an elevator must be made available for the movement of all freight, tools, equipment and personnel.

9. In the event an elevator is unavailable, installation shall cease until an elevator can be provided.

10. Workscapes must be provided with at least one dock position and use of both the loading dock and freight elevator during specified offload hours

11. In the event that site does not have a dock, Workscapes must be provided with a safe street level offload zone

12. Workscapes shall not be responsible for obtaining any permits relating to the installation of the systems furniture.

13. While Workscapes provides power infeeds for systems furniture, it is the responsibility of the general contractor or client to have the infeeds hard wired to the building by a certified electrician.

Upon acceptance by the Buyer, its agent or its customer of the goods sold under the invoice, the Buyer hereby grants to Workscapes, Inc. (Secured Party), a security interest in said goods or the proceeds therefore, regardless of form, to secure the payment of the purchase price and any other sums then or hereafter owed to the Secured Party of the Buyer. **If payment is not made in accordance with the terms specified herein, the Secured Party shall have the rights and remedies afforded to a Secured Party under Article 9 of the Uniform Commercial Code.**

Upon acceptance by the Buyer, its agent or its customer of the goods sold under the invoice, the Buyer hereby grants to Workscapes, Inc. (Secured Party), a security interest in said goods or the proceeds therefore, regardless of form, to secure the payment of the purchase price and any other sums then or hereafter owed to the Secured Party of the Buyer. If payment is not made in accordance with the terms specified herein, the Secured Party shall have the rights and remedies afforded to a Secured Party under Article 9 of the Uniform Commercial Code.

I certify that I am empowered by this corporation to enter into contracts and agreements on behalf of said corporation.

Accepted by: \_\_\_\_\_

Print Name

Company Name

Authorized Signature

Title

Date

MIAMI - ORLANDO - TAMPA - JACKSONVILLE - FORT MYERS

PAGE 118 OF

118